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1. (a) - Discuss the salient features of Section 68 of the Companies Act, 2013 with regard to
buyback of shares. | |
(b) The Balance Sheet of X Ltd. as at 31st March, 2016 was as follows :

Equity and Liabilities Rs. Assets Rs.
Equity shares of Rs. 100 i Fixed Assets . 2,90,000
each 2,00,000
Less : Calls in arrears @
Rs. 20 per share 20.000 | 1,80,000 | Investments
- 12% preference shares of (Face Value Rs. 1,00,000) 80,000
Rs. 100 each 1,00,000 | Stock 50,000
Securities Premium 5,000 | Trade receivables 40,000
General Reserve 50,000 .
Profit & Loss Account 40,000
Current Liabilities _ 85,000
4,60,000 4,60,000

P.T.O.
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As per agreement with the preference shareholders, the directors decided to redeem the

shares on April 1st, 2016, at a premium of 10%.

Board of Directors decided to sell inve‘stments wh

of 20%. The Investments were sold at a loss of 5%,

were duly received. After redemption, the Board dec

For the purpose of redemption, the
ose face value on 31st March 2016
was Rs. 50,000 and to issue 600 fresh equity shares of Rs. 100 each at a premium
Calls in arrears on equity shares

ided to issue one bonus share of

Rs. 100 each for every five equity shares held. Holders of 100 preference shares were

not traceable.

Assuming that all formalities relating to redemption and issue of bonu

with, you are required to show necessary journal entries in th

(m)ﬁuﬁaﬁm@ﬁaﬁ@ﬁa‘rﬂammﬁrﬁwz

& o= #if

(W) X. fafies %1 31 9, 2016 1 GOYT 3T YFR o

s shares were complied

¢ books of X Ltd.

5+10=15

013 % @S 68 Ht Wi fergroarai

et qar damnd %, TRaufrat %.
100 %. =TT St Sy 2,00,000 Tt uftgufaat 2.90,000
¥R ;20 %. 9 IR 5w FerT (sifeRa g
 Hiwll kT e Ul 20000 [ 1,80,000 | 1,00,000%.) 80,000
100 % a1t 12% eifme Sk 1,00,000 | wf® 50,000
wayfa ifirm 5.000 | =R e 40,000
= e 50,000
AN SR A o 40,000
] SFard 85,000
N 4,60,000

4,60,000
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During 2016-17, the company purchased and cancelled the debentures as given
below :
(1) Rs. 20,000 at Rs. 97 each on 30th September
(2) ‘Rs 30,060 at Rs.‘96 each on 31st March
Show the journal entries for both the years. 5+10=15
(ﬁ)mﬁmw_ﬁﬁmmﬁwmﬁﬁm

(@) 1 a1l 2015 #F X fafee ¥ 100 v\-v.'alélo,oo_o, 10% fea=ii #1 98 % w
mﬁar{ﬁ:mnmmﬁ-ﬁvﬁﬁwu“rﬁﬁzols-n-@mﬁsoo%aaﬁ_ -
wmmmﬁ@ﬁwﬁﬁﬁﬁaﬁﬁ@ﬂammﬁﬁqﬁéﬁw
'mwwmm|%ﬂaﬁmm3omaﬂ?3lnﬁfaﬁéﬂmr
FE T A o B e o @ 4500 T W 5500 7 W @
Rk T ..

2016-17 & %% 3 30 bR fedal w whe # ok 9 w fe
(1) 30 faaw=r =1 97 % & 20,000 &

(2) 31 W W 96 ® A 30,000 T F)

2 o @ fere seer et s
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The following balances are extracted from the books of X Ltd. for the year ended

31st March, 2016 :-

‘Dr. (Rs.) Cr. (Rs.)
Puilding * 12.00,000
Furniture 1,20,000
Motor Vehicles 1,15.000
Iﬁvestments (Long-term) 8.05,000
Purchases 15,00,000
Stock in trade at cost (1-4-2015) 8.,00,000
Debtors (considered good)- 5.60,000
Advance against construction of building 2,60,000
Cash and bank balgnce 3.44,000
Share Capital (2,00,000 equity shares of Rs. 10 each) 20,00,000
Creditors 7,00,000
Sales 35,00,000

P.1.0:
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(6 )

-Prolﬁt' & Loss Account (1-4-2015) 40,000
D_ividend received on _in.vestment 20,0@
Salaries and wages 4,40,000
Director’-s fees 16,000 .
Electricity charges 50,000 .
Ratés', tax'es and insurance 20,000
Auditor’s fees - 30,000

62,60,000 62.60,000

Additional information

(1) Provide depreciation @ 10% p.é. on all fixed assets.

(2) Stock has been valued at Rs. 7,20,000 on 31st March, 2016

(3) Debtors of Rs. 1,60,000 are due for more than 6 months.

(4) Provide for taxation @ 30%, proposed dividend @ 20% and corporate dividend tax

@ 20%.

(5)  Transfer 7.5% of the net profits to General Reserve.

Prepare Profit and Loss Statement for the year ended 31st March, 2016 and Balance Sheet

as per Schedule III as on that date.

15
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frafafed 9 X fafie & 31 @, 2016 1 g9r€ gC o™ & foag @l ¥ frmfaa
fhe T ¥ '

sfe (%) wige (3.)
T 12,00,000
Tl 1,20,000
e dred 1,15,000
[RERGHEEAIGED! -8,05,000
e 15,00,000
MR Lleh @ W (1-4-2015) 8,00,000
STRIRET (3=t At TE) 5,60,000
v o & fau Sewh 2,60,000
THg AR 9% # 39 3,44,000
I G (2,00,000 R SR 10 % AN 20,00,000
I 7,00,000
fost 35,00,000
A AR B @M (1-4-2015) 40,000
fewr W g e 20,000
AT AU G 4,40,000
feerhi =t 16,000
ESKIRCE] 50,000
ST, T IR & 20,000
AEdEE  J[eh 30,000

62,60,000 62,60,000

P.T.O.
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afaftem gemmd . |

(1) wﬁqu?vﬁﬁvﬁm‘imm%uﬁlaﬁﬁaﬁwﬁwﬁl
() 31 A, 2016 1 = w g 720,000 © Lt

(3) 160,000 ¥ T SRR B: A W ek B wHET ¥

4) 30%ﬁm@mm%%qmawﬁﬁg,mﬁaw%zo%ﬁaﬂﬁn
I AN F 20% F = |

(5) T @ 1 7.5% " fodd # siaRa v S
31@2016@@%@3&@@@ﬂﬁnaﬁﬁ@aﬂtwﬁqwmw
Il &% S8R qoFTsl TaR sHifsm |
Or
(3reram)

(@) B Ltd. carried forward balance of Rs, 50,000 in the Surplus Account from the year
ended 31st March; 2015. During the year 2015-16, it made a further profit before tax

of Rs. 5,00,000. It was decided that the following decisions be carried out -
6) Provisiop for taxation Rs. 2,20,000

({'i) Dividend equalization account Rs. 60,000

(#Zi) Dividend on 12% preference shares of Rs. 2,50,000

(iv) Dividend 15% on 40,000 equity shares of Rs. 10 each fully paid




(

(v) General Reserve Rs. 55,000

9

(vi) Development rebate reserve Rs. 40,000

(vii) Provide for corporate dividend tax at 20.358%.

7790

You are required to write. up the ‘Reserves and Surplus’ to be shown in notes to

accounts.

(b) - Balance Sheet of XYZ Ltd. as on 31st March, 2016 is given below :

Equity and Liabilities Amount Assets Amount
(Rs.) (Rs.)
Share Capital : Sundry Fixed Assets 2?20,000
15.000 Equity shares of Rs. 10 fully paid up 1,50,000 Investments 40,000
20,000 Equity shares of Rs. 10 each Rs. 6 Stock 80,000
paid up 1,20,000 | Debtors 40,000
9% Cumulative Preference Shares 60,000 | Cash at Bank 40,000
Long-term Loan 1,00,000 | Profit & Loss Accoﬁnt 70,000
Sundry Creditors 60,000
4,90,000 4,90,000

P.T.O.
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Other Information :

(1) Current value of sundry fixed assets is Rs. 4,10,000 and that of stock is
Rs. 40,000.

(2) Investments could fetch only Rs. 14,000.
(3) 30% debtors are doubtful and remaining 70% are expected to be recovered.
(4) Preference dividend is in arrears for the last two years.

Find out the value per share of XYZ Ltd. by the Net Assets method for both fully and
partly paid-up shares.

(¢) Explain with example super profit method of valuation of goodwill of a joint stock

company. 5+5+5=15

(%) B fafie ¥ 31 7, 2015 F TG gY A & RS @R F 50,000 T F I
%1 orifira fFam| & 2015-16 H TEY 5,00,000 F H BT I T HHE | T8 79
fea T fo fr=afafea ol &1 oem foean smeo:

() HUEHE & AW 220,000 F. B ALY I sz
(i) MY FHHE o H 60,000 T &
Gy 12% AR A W 2,50,000 T wns
(iv) guied 10 & ST 40,000 s‘iﬁaﬁ I ‘H 15% &Y
(v) "= fEd 55,000 %
(vi) ferepra g s 40,000 %
(vii) T TR & fau 20.358% =t =EEe wifag
el el # frem % fau fod sl s’ @ e wiRm)
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( 1 )

(@) Xyz fafiee =1 31 7= 2016 1 goos = foor 7 ¢
. % afrener =
TGS fafasr o, e 2,20,000
10 % @ T @ 15,000 SEH IR | 150,000 | Frm 40,000
10 % & 6 % €9 20,000 sEE ¥R | 1,20,000 | €l 80,000
9% Tet atfemE IR 60,000 | Rt 40,000
refefy o 1,00,000 | 5 H Ihg 40,000
ElECRcEH eIl 60,000 | ey 3R =l owEn 70,000

| 4,90,000 - 4,90,000
T 'HQTHTI\I' :

(1) fafey ot i w1 adam 9o 410,000 & ¥ 3R wF T

40,000 & Bl

2) TR ¥ S 14,000 T UG o FHA
| (3) 30% SRR wfey T R W 70% H IYEH H WH FHGAEA T

(4) fmE o fTed ) 9 ¥ 9% 99 @ gl

Xyz fafiee =1 fe e fafy 2, Tf g0 ok siva: <0 990 & fag, o

R T T S

() WY Wi HUA o GIH HI e fafs § g &1 e [ died

HifTg |

P.T.O.



3. Alok Ltd. agreed to acquire the business of Tarun Ltd.
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The Balance Sheet of Tarun Ltd.

is as under :

Equity and Liabilities Amount Assets Amount

(Rs.) (Rs.)
75,000, 15% Preference Shares of Rs. 10 each 7,50,000 | Land 15,00,000
1,50,000 Equity Shares of Rs. 10 each 15,00,000 | Plant 7,50,600
Reserves . 3,75,000 | Stock 15,00,Q00
10% Debentures 7.50,000 | Cash at Bank 3,75,000
Creditors 11,25,000 | Debtors 2,62,500
Preliminary expenses 85,000

Discount on issue of o

debentures 27,500 |

| 45,00,000 | 45,00,000

The consideration payable was agreed as under :

(1)

2)

3)

by issue of 15% preference shares in Alok Ltd.

by issue of 10% Debentures at 10% discount.

10% and are to be paid Rs. 3 in cash against every 5 shares held.

Debenture-holders of Tarun Ltd. are to be discharged by Alok Ltd. at 8

The preference shareholders of Tarun Ltd. are to be discharged at a premium of 10%
Equity shareholders are to be allotted 6 equity shares of Rs. 10 each at a premium of

% premium
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While arriving at agreed consideration, the directors of Alok Ltd. valued land at Rs. 18,75,000,

stock at Rs. 16,50,000, debtors at book value subject to an allowance of 5% for doubtful

debts. Debtors of Tarun Ltd. include Rs. 10,000 due from Alok Ltd. It was agreed that before

acquisition, Tarun Ltd. will pay dividend at 20% on equity shares. The preference dividends

had already been paid before acquisition. Prepare necessary ledgef accounts in the books of

Tarun Ltd. and draft journal e_ﬁtries in the books of Alok Ltd.

15

Tl fefis, T fafids % s A afdn w0 @ o da @ T e ffs

W qEH-TF 39 TER T

- gferEt aan gamn Ty gfteafaar Ty

(. #) (’5. )

10 & a™ 15% 3ifemE =R 75,000 7,50,000 | Iy 15,00,000
io % 9 sl I 1,50,000 15,00,000 | T 7,50,000
fod 3,75,000 | ETh 15,00,000
10% feam=r 7,50,000 | ¥Fg T H 3,75,000
ORI 11,25,000. RHIEe] 2,62,500
| oy @%f 85,000

%&#ﬁﬂmwa@ 27,500

45,00,000 |

45,00,000

P.T.O.
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GEAld & FIER T Wfahel 39 UER o7
(1) m%ﬁ%%ﬁmwmﬁﬁﬁmﬁﬁ%@ﬁls%mww
Fh 10% WiFs W S frar s oww@ 3
(2)..s‘ﬁa@sﬁmﬁﬁﬁiﬁ@%ﬁﬁwmloaaﬁ#ﬁ%ﬁaﬁwm&amw
’%Sﬂiaﬁ?@aﬁm3awﬁqaﬁ%| |
) W%ﬁh%ﬁﬁmﬁﬁﬁﬁm%%ﬁmm%a@wé%mmmﬁa
feran S ¥
WWWW%@WW%%W%Q@WI@T
18,75,000 ., RIH H1 16,50,000 awm%ﬁwﬁﬁmq@wﬁﬁwa{ﬁaﬁ
WS%yﬁWIWﬁmémﬁmmﬁwﬁmﬁw
mlo,ooos.%iwﬁwﬁrgeﬁ%aﬁawauﬁm%ﬁé@ﬁaﬁﬁuﬁ
mzo%ﬁaﬁwwlém arwwwmaﬁfaﬁﬁ%ﬁtﬁéﬁmwml
T S % A & ST G S R i S e fafits & e |

S wfaftedt w1 yreTor sifag)
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Or
(3ter=)
The Balance Sheet of Mohini Ltd. as at 31st March, 2016 was as follows :
Equity and Liabilities Amount Assets Amount-
(Rs.) (Rs.)

75,000, Equity Shares of Rs. 10 eéch 7,50,000 | Patents 1,25,000
5,000, 10% Preference shares of 100 each 5,00,000 | Plant & Machinery 7,50,000
Securities Premium 2,25,000 | Equpments 25,000
Loan (Unsecured) 1,25,000 | Book debts 6,25,000
Creditors 7.50,000 | Inventories 3,75,000
Expenses due 62,500 | Bank balance 37,500
Empl'oyees Provident Fund 1,12,500 | Preliminary expenses 12,500
Profit & Loss Account | 5,00,000
Goodwill 75,000
25,25,000 25,25,000

Note : Dividend on preference shares is in arrears for 5 years.

P.T:O.
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The following scheme of reconstruction has been agreed upon and duly approved by the

court :

(@)
(ir)
(iif)
(iv)

()

(vi)
(vii)

Equity shares are to be converted into 1,50,000 shares of Rs. 5 each.
Equity shareholders agreed to surrender to the company 80% of their holdings.

Preference shareholders agreed to forego their right to unpaid dividend. They also agreed

to reduce each preference share from Rs. 100 to Rs. 80.

Creditors agreed to reduce their claim by 2/5th in consideration of getting shares of Rs.

90,000 out of surrendered equity shares.

Unsecured loan is converted into Rs. 75,000 equity shares out of shares surrendered

and remaining amount of loan is waived.
Surrendered shares not utilized are to be cancelled.
Assets are to be reduced as under :

Goodwill 'by Rs. 75,000, Plant by Rs. 1,00,000, Equipment by Rs. 20,000, Book Debts
by Rs. 40,000, Inventories by Rs. 50,000. All intangible and fictitious assets are to be

written off, '

(viii) Any surplus left should be utilised in writing down Plant and Machinery further.

(ix)
(x)

Cost of reconstruction amounted Rs. 25.000. :

Further, 1,00,000 shares were issued to existing shareholders to increase working capital.

The issue was fully subscribed and paid for.

- Draft journal entries for the above arrangement and also prepare reconstruction account.

15
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Afeh fafis @ 31 m%f,zoléaﬂgéwsr#%ﬁqmmﬁm:
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et o afr | ofwar i
(& #) (1: )
10 & a7l 75,000 gt YRR 7,50,000 | Te= 1,25,000
100 & a1 5,000, 10% FHiEHA R 5,00,000 | §F5 qen HRI 7,50,000
gfayfa difaam 225,000 | U 25,000
B (TfE) 125,000 | @@ o 6,25,000
SRR 7,50,000 | e 3,75.000 |
T T 62,500 | 9% H I 37,500
wHart ufaer fafy 1,12,500 | URfys @ 12,506
Y SR T oren 5,00,000
g 75,000
25,25,000 25,25,000.

oot : ofmm vA0 W oy o= 5 99 W " B

T # freffed Ao W et @ ¥ ol e, gu iR 9o e T ¥

() S T H S A 1,50,000 A H et T W

() R S S W B 80% 1 FE W 3 F fy wew A E

- PTO.
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(iii) wWwwmqmmwmeww@wémm
B ML ¥ TOE AEE TR H 100 F F TR 80 T w94 W ot HeHd
& T g

(iv) SRR A=fd St S # & 90,000 & % IR h Widhd H HATH WO H
253 W F W B fem e @ M

(v) SMfdyd = I, eafdd fee o 9= § ¥ 75,000 % & S IEU H oOcd
fea mn § 3R mu w1 9w vl B & w T

- (vi) sy & 7 forw U erafdd S W w S fem W E
(vii) FEYE @ 39 YRR HeEl Wl §

g &I 75,000 % §W, §IF &I 1,00,000 F. R, STEHT i 20,000 T. §RI, @Al
SRUI %1 40,000 & BRI, HeTg=! 1 50,000 &. §RI| Gt o1d o whefl wfiwufw
H T @ § e S gl

(vii)) 9 FU AMRIY w1 I qA WA & gEd # swam few s =nfew

(ix) TREE H dFE 25,000 % ¥l |

(x) F& AF 1,00,000 TR ARET IERAME & 9™ S w1 ey U § qifE s
Usfl @l dgrn o1 weh | i guia: sfiew @ T @ @R Y e #R femm mn

qr |

'Eﬁﬁm%maﬁagﬁﬁﬁaﬂwaﬂﬁqﬁngﬂm@@%ﬁwml
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On 1st October, 2015, H Ltd. acquired 80,000 shares of Rs. 10 each of S Ltd. for

Rs. 10,00,000. Their respective Balance Sheets on 31st March, 2016 were as follows :

Equity and Liabilities H Ltd. S_ Ltd.
_ Rs.) (Rs.)
Equity share capital (Fully paid up shares of Rs. 10 each) 20,00,000 10,00,000
General Reserve | 3.00,000 1,50,000
Proﬁt & TLoss Account 7,00,000 |~ 8,50,000
Trade Creditors 2.,50,000 ;1,50,000
Bills Payable (accepted all in favour of H Ltd.) - 150,000
32,50,000 | 22.00,000
Assets H Ltd. S Ltd.
(Rs.) Rs.)
Fixed Assets : Tangible 10,00,000 ° 10,00,0-00
Investment in Equity Shares of S Ltd. 10,00,000 —
Stock in trade | 5,00,000 4.00,000
Trade debtors 6,50,000 7,00,000
Bills receivable (received from S Ltd.) 50.000 —
Cash at bank 50,000 1,00,000
32,50,000 | 22,00,000

PTG,
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Additional Information :

(@) On 1-4-2015, S Ltd. had Rs. 1,50,000 in General Reserve and Rs. 2,00,000 in Profit

and Loss Account.

(6) S Ltd. paid 10% dividend in October 2015 for the previous year and H Ltd. credited

the share of dividend to their Profit and Loss Account.

(¢) Fixed assets of S Ltd. stood at Rs. 12,00,000 on 1-4-2015. These were valued at Rs.

14,00,000 on the date of acquisition of shares.

(d Stock of S Ltd. includes goods worth Rs. 1,20,000 on which H Ltd. made a profit

of 25% on sales.

Prepare Consolldated Balance Sheet of H Ltd. and its subsidiary S Ltd. as on 31st March
2016. Show your workmg clearly. . 15

1 SRR 2015 &1 H fafees 3 s fafazs & 10 =. arel 80,000 PR 10,00,000 &, &
Syifsta & fer) 31 =4, 2016ﬁ3ﬁmmﬁwwwa

et qer éﬂﬂm H fafies | s fafiee
(% #) (& #)
Sfedt TR St (10 % A goles 9R) 20,00,000 | 10,00,000
A= fisrd ' 3,00,000 1,50,000
A9 SR T e 7,00,000 8,50,000
T IRt 2,50,000 1,50,000
éuﬁa(mﬂ@Hﬁ—rﬁ%ga%wﬁmﬂmmw) - 50,000
32,50,000 | 22,00,000
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qREafar H fafies . | s fafiee

(% #H) (% #)

T aREafwEl ;g 10,00,000 | 10,00,000
S fafiie & et S faw 10.00,000 =

2ikituc ik sico 5,00,000 | 4.00,000

R F IRt 6,50,000 7,00,000
T f5a (s fafes 4 ww) 50,000 -

% H Uehg 50,000 [ 1,00,000

32,50,000 | 22,00,000

(@ 1-42015 F S fafie & urg 1,50,000 ®. 9mm=g fisd &

3R wf @ ¥

g 3R 2,00,000 T. MY

®) s s 3 sm 2015 % frod o 10% Tt e o AR 1 s 3
m%waﬁ%waxaﬁtmﬁé@ﬁwwﬁmw

(©) 8 faftee =t worh wReufet 1.4-2015 = 12,00,000 ®. =t o =0 & Ul

& TR P TR T 14,00,000 7. o)

(d) S%fﬁég%mﬁ1,20,000$.mw3wﬁa%mmm%vﬁqég%ﬁaﬁm

25% 9 HHED 97

H fafiee ok st wermm s fafivs =1 31 A, 2016 T B GHFET qEETS TR

ﬁm|mmﬁﬁwmﬁﬁ@r§ql

P.T.O.
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The following are the Balance Sheets of H Ltd. and'S Ltd. as on 31st March, 2016 :

Equity and Liabilities - H Ltd. S Ltd.
(Rs.) (Rs.)
Equity shares of Rs. 100 cach 30,00.000 | 15.00,000
General Reserve (as on 1-4-2015) 8,00,000 4,00,060
Profit & Loss Account (as on 1-4-2015) 2,00,000 2.50,000
Net profit for the year 6,00.000 | 4,00.000
15% Debentures 10,00,000 L
Creditors 4,00,000 2,70,000
Bills payable 60,000 30,000
Total 60,60,000 | 28.50,000
Assets H Ltd. S Ltd.
(Rs.) (Rs.)
Premises 14,00,000 | 9,00,000
Machinery - 12,00,000 | 7.00,000
Investments ih Equity shares of S Ltd. 17,00,000 —
Inventories 7,00,000 4,50,000
Debtors 5.00,000 | 4,20.000
Bills receivable 1,80.000 80,000
Cash at Bank 3,80.000 | 2,00,000
Miscellaneous expenditure A I,O0,000 _
Total 60,60,000

28,50,000
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Additional !nformcirfon :

(/) H Ltd. acquired 12,000 equity shares in S Ltd. on 1st April, 2015.
(i) BiIls. receivable of H Ltd. include Rs. 30,000 accepted by S Ltd.
(7ii) Account receivables of H Ltd. include Rs. 1,00,000 due from S Ltd.

(iv) Inventories of S Ltd. include goods purchased from H Ltd. for Rs. 1,25,00(5 which were
invoiced by H Ltd. at a profit of 25% on cost.

(v) Both H Ltd. and S Ltd. have proposed 10% dividend for the year 2015-16 but no

effect has been given in the balance sheets.

Prepare Consolidated Balance Sheet of H Ltd. and its subsidiary S Ltd. as on 31st March,

2016. Show your workings clearly. 15
H fafiee iR S fafiees & 31 @, 2016 T & goqas = ko 7o ¥ .
3faeet qar Jgand H fafies | s Rifis

(5. H) (5. ®)

100 % A 9 30,00,000 | 15,00,000
e f&E (1-4-2015 1) 8,00,000 4,00,000
Y R B SR (1-4-2015 O &) 2,00,000 2,50,000
ad &1 fraa oy 6,00,000 4,00,000

15% 9l feam=r 10,00,000 —

SHRIE 4,00,000 | 2,70,000
<7 foa 60,000 30,000
FHel 60,60,000 | 28,50,000

P.T.O.
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afteafiat H fafies | s fafies

& #® | =
trﬁm 14,00,006 9,00,000
mﬂaft 12,00,000 7,00,000

fFomr s fafes & <faet 9 & 17,00,000 -
A=t 7,00,000 | 4,50,000
SRIREr 15,00,000 | 4,20,000
o e 1,80,000 80,000
5% H qwe 3,80,000 | 2,00,000
ﬁﬂ”a'u T — 1,00,000
& 60,60,000 | 28,50,000

Afaftaa 'Q?H‘lﬁf :-

() Hfafres 31 =, 2015@3%&%@%12,000%%3@%37ﬁﬁa'mm?}|

(if) H%ﬁ%%mﬁﬁﬁm,oooawﬁa%ﬁ%s%ﬁ%%wﬁwmm

|

(i) Hﬁfﬁqégﬁmwé@ﬁs%ﬁégﬁaml,oo,oooam%l
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(iv) S'f%ffﬁi@ﬂﬁqlﬁlﬁﬁﬁ 1,25,0006.651H1%1ﬁ%€ﬁ@ﬂmnafwwﬁqa%mm
H fafifde 7 @ra W 25% & &R siwh H1el o |

) H fafie siv s fafies 26 % 9 2015-16 & fw 10% ensie wefaa fn
€ W qonwl § osEel weftfd T& e 7 |

H feafade iR 39wt W S fafee &1 31 A6, 2016 9% %1 GafHd qomds ar
HITT| I FEafed # T ®U § yeiid it

The following were the summarized Balance Sheets of X Ltd. as on 31st March :

Equity and Liabilities 2015 2016

(®Rs) (Rs)
Equity shares capital (Rs. 10 each) 25,00,000 40,00,000
Securities premium — 1.00,000
General Reserve - 12,50,000 15,00,060
Surplus 15,00,000 22.75,000
14% Debentures 10,00,000 10,00,000
Sundry creditors 25,00,000 20,00.000
Provision for Tax 2,50,000 3.00,000
Proposed dividend 5,00,000- 6.25,000
95,00,000 1,18,00,000

P.-L:0).
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( 26 )
Assets 2015 2016
(Rs.) (Rs.)

- Goodwill 1,50,000 2,50,000
Land and building 20,00,000 19,00,000
Machinery 37,50,000 40,75,000
10% Investments 10,00,000 11,00,000
Stock 12,50,000 23,50,000
Sundry debtors 13,00,000 15,25,000
Cash at bank 50,000 6,00,000

95,00,000 1,18,00,000

Additional Information :

(I) During the year ended 31st March, 2016, the company issued 1,00,000 shares of

Rs. 10 each at par against the following assets :

Assets
Machinery
Goodwill

Stock

Rs.
6,00,000
1,50,000

2,50,000

(2)  Depreciation charged on land and building and on machinery amounted to Rs. 1,00,000

and Rs. 3,50,000 respectively.
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-(3) A machinery costing Rs. 325,000 accumulated depreciation Rs. 1,25.000 was sold for
Rs. 1,75.000. | ol

(4) New investments Were purchased on 1-4-2015.

(5) During the year ended 31st March, 2016, the company paid income tax and dividend
amounting to Rs. 2,75,000 and Rs. 4.00,000 respectively.

(6) Ignore corporate dividend tax. ,

Prepare Cash Flow Statement as per AS-3 (Revised). Show your working clearly. 15

ﬁmﬁiﬁ@lﬂxﬁrnﬁé—swslmﬁwmﬁmw%:

@ o Tl 2015 2016

(& ™ (& )

St PR ST (10 F ) 25.00,000 40.00.000

- yfayfa difeem — 1,00,000

Bl (SE] | 12,50,000 15,00,000

SIEN 15,00,000 22,75,000

14% ama fea== 10,00,000 10,00,000
fafay emeiEl 25,00,000 20,00,000

X & fou e 2,50,000 3,00,000

e GIRIN ~5,00,000 6.25,000

| 95,00,000 1,18.00,000

P.T.O.
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qfRtafaar 2015 2016

(Rs.) (Rs.)
g 1,50,000 2,50,000
qfF e em 20,00,000 19,00,000
ENIEE] 37,50,000 40,75,000
10% ferer 10,00,000 11,00,000
wiH 12,50,000 23,50,000
fafay =it 13,00,000 15,25,000
9% § Jhg 50,000 6,00,000
95,00,000 1,18,00,000

affafiam W :

() 31 94, 2016@ T 8 oW & A HTH Y 10 T S 1,00,000 FHG @

frm frtfefea it & o 3§ e w e o

ﬁoﬁ\‘a
ENIEEY)

g™
IF

.

©6,00,000

1,50,000

2,50,000

) - i IR 9o W SR TR W FT a9 qeEEE FE: 1,00,000 %, 3R 3,50,000 .

q1 |
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(3) 3,25,000 ®. ®t A T WA R Wiaa TomE 1,205,000 5. o Ford 1,75,000 .
§ o9 & m ooy

4) 7T fEe #1 1-4-2015 =7 @l T em

(%) 31 =, 2016@%@6&@%?@%%@?@%,%%
FHA: TRT 2,75,000 . 3R 4,00,000 & ¥

(6) FH Y I W e TG D
AS-3 (gﬂﬁf&ﬁ)%mmmwﬁmﬁmrmmﬁﬁwm
4 wefefa wife |

o

(37eram)

(@) Discuss the classification of assets and provisioning for non-performing assets in case of

Banking Companies.

(b) Prepare Cash Flow Statement for the year 2016 in acIC(‘)rdance with AS-3 (Revised)

from the information given below

Particulars : Rs. in Lakhs
Net profit after tax . 25,000
Dividend (including dividend téx) paid " 8,535
Pfovision.for Income tax 5,000
Income tax paid during the year 4,248

P.T.O.
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 Loss on sale of assets  (Net)

: Bt)ol; value of assets sold

Depreciation charged to Profit & Loss Account
An;ortis'ation of Capital Grant

Profit on sale of investments

Book Value of inyestments sold

Interest income on investments

Interest expense debited Vto Profit & Loss Account
Interest paid during the yealr

increase in-working capital (excluding cash and bank balance)
Purchase of fixed assets -

Investment in joint venture

Expe.nditure on construction WOr_k in progress
Proceeds from calls in arrears

Receipt of grant for capital projects

Proceeds from long-term loan

‘Proceeds from 10% debentures.

Opening cash and bank balance

Closing cash and bank balance

A
7790

40
185

20,000

100
27,765
2,506
10,000
io,szo.
56,075
14,560
3,850

34,740

12
25,980
20,575
. 5,003

6,988

5+10=15
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-(m)qﬁﬁwﬁlﬁiﬁmﬁwﬁﬂﬁfmﬁqﬁﬁia%Wﬁﬂt—ﬁmmﬁﬂaqﬁmﬁﬁa%
e sraeenett =1 fag=m wifse

(@) AS-3 (TRfer) & oER = & T8 el 9 o 2016 % fou Ths waE FoA
TIR HifST

faaor | wE % H
F N ® 9 FEd | 25,000
e (e T i wnfHe weh) T 8,535
AR & o =awen | | 5,000
waﬁﬁmww | 4,248
ufEufEt =1 fosr 9 ' (Fee) 40
=t T ufgufad 1 @ qed g 185
oy iR wfT w7 foren T goded | 20,000
&h e RN . | | 6
it =1 foy Q@ =W S - 100
a9 T i W e g | 27,765
fanl W =e 9 M 2,506
e Gedt @t w1 oA i il ww # 2fee fen o v 10,000
39 o8 fean ™ = | 10,520

P.T.O.
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Wﬁaiﬁﬁq@(ﬁma&x%mﬁﬁaaﬁmﬁam) | 56,075
T URETE # e | 14,560
VIR e § g | 3,850
= W FE @ e ' 34,740
ST HAT AR ¥ wifg 2
T SRS @ for g freh | 12
AT = A st | 25,980

- 10% fea=i ¥ wifiqat 20,575
SRIF Thel @R F= vy ¥ 5,003
Al T iR T 9y | | 6,988

7790 32. - : 8,400
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femutt . wm—wmwaﬁiﬁm%ﬁﬁéﬁﬁw
7 S frT vt Sl &1 "iemg TR @ e

<1fea |

Attempt A/l questions.

All questions carry equal marks.

[t gy wifsw)
|t g & 3% §HH B

K (@) “A company in law is a different person altogether

from the members.” Comment, citing the relevant

case laws.

5
P.T.O.
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3 7791
(b)  Explain the concept of ‘Producer Company’: State
the objectives for which a producer company may be

formed. : 5

(©)  Describe the essential steps to be taken for on-line

registration of a company. : 5

mﬁ..ﬂiﬂﬂd@wﬂ%ﬁgﬂg@%wz

(@) dﬂﬂﬂﬁi,ﬂ@%ﬂﬂﬂ@_%@ﬂ

R iy

() ﬂ&%zﬂ%ﬂ_iﬁs%gﬂmﬂﬂ@

L e wEE W iy IR |

()" A Company cannot justify a breach of contract by altering
its Articles of Association,” Explain. 5

b A applied for omam,_z shares of a aom._vm&\. on the basis

of a prospectus containing the names of sjx directors of

PT.O.




(©

(%) ¢

(@) <A

(4) 7791
the compan i
pany. Two directors from these six retired before
the shares we
vere allotted. Can “A> i o
: exercise the right of
rescissi i
on against the company ? Also explain th
€ cases

where he will lose this right. )
. 5)

“ Association.
5

ﬂ%ﬁﬁ@%fﬁ%ﬁ%
ﬂwﬂﬁamwmﬁdu_%mwdﬁiwﬁz
Hifay |
wﬁ@ﬂ?ﬁ%mﬁ%ﬁ%%
@ﬁ%@mﬁmﬁmﬂq?ﬁﬂj%@.%
%qﬂmﬁﬂw_ﬁ@”m@.&ﬁﬂﬂ@ﬂ

(:3) 7791

() YA FY GEN H O F AW qAEC| G H
T T SRYF UM Y TEeR ¥ Hetya gl o

Al i |
Or (3794

(@ A company was in financial difficulties and the
majority shareholders representing 95% of the shares were
é:::m to provide the required capital m.m remaining
shareholders amounting .8 5% would sell their shares to
the majority shareholders. However, the minority
shareholders refused to sell .:._m: shares to majority
shareholders, but the company altered its Articles so as
to authorize the Em_._ola\ shareholders to purchase the

shares of minority shareholders compulsorily upon certain

terms. Are the minority shareholders bound by this

alteration ? Explain.

(b)) Write a note on ‘Deemed Prospectus’.
PTO. -
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@ A Company wants to shift its qnm._umaﬁoa office from
Chennaij to Coimbatore both i the state of ,ﬁm:_:.zmac

for administrative convenience. What provisions the
Company has to comply with under the Companies Act

2013 for shifting its registered office
_ L 5

ﬂmmxﬁg@%@ﬂﬁmﬂ?ﬂmﬂﬂ

T ?ﬁg%&ﬂ.@@ﬂﬁﬁ*mﬂqﬁﬂﬁﬂ
.@ﬂﬁﬁqﬁ%@ﬁﬁw ) =T i

) TR ST A ot v ot g
|

€7 7791

(A1) TH HIAT TR Telihd BRI Dl I8 H HEHIR
m%ﬂiw@i%%ﬂﬂ
gfaun & fou afterrg w9 8 § 2 vsiga wEed
F WHEARG HE & e so sAfutEE, 2013
3 sita FOR F R cgeEEnsl w1 weE HE
B R ?

(@) What do you understand by the forfeiture of shares ?
Explain the requirements of a valid forfeiture of shares
by a company. 5

(b)) What are the conditions to be fulfilled by a company
that proposes to issue ‘sweat equity shares’ under the

Companies Act, 2013 ? 5

(¢)  Why does the Companies Act allow a company to buy
back its shares ? Which sources of funds can be used
by the company for this purpose ? 5
(F) I 1 = QY T GEAA § 2 FOE G
IR ) fafor w9 # Sea w0 A gatug sTiensd

I AR FHifSd |

P.T.O.
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@

®)

©

T S F e 20 % 2 7 2 & e
ﬁﬂf%ﬁ_ﬂaﬁﬁ%w /A

Or (37era)

Who is member of 2 company ? Explain various modes

of acquiring membership of a company. 5

What are the bonus shares ? State the conditions that
must be complied with before a tompany makes 2

-bonus issue. L

What are the sources of money credited to the ‘Investor

Education and _uwcnmmﬁmoz Fund® 2 . 5

Aﬂﬂiﬁﬁﬂﬁ&m@awwﬁ.iﬂﬂﬂa

ﬁﬂ@%iﬁ%&&ﬂ@%_

(9) 7791

(@) T W G E 2 A S wE @ e

Fft 1 Fort 7 # 9 FR A ¥ S oo
it |

() foen e e P’ & o v T o

(@

(b)

(@)

- ?
Write a note on ‘voting by electronic means’.

¥ B Hg F § 2

5

Discuss the provisions of the Companies Act, 2013
regarding the Directors Identification number. | . 5
Under what circumstances a director is deemed to have

vacated the office of directorship ? 5

(%) "soitnd:. % § oo’ W fewdt fafen

(@) wwit sfufmm, 2013 § v Seam den @

IR A f T Eend W fEem it

(m fo TRftafwEdl & fies # Ry = A =

T TEI SO & 2
Owﬁgv

Write a note on Woman Director.
PTO.
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(@)

(10) 7791
Who is a proxy ? Is it essential for a proxy to be a member
of :6 company ? If a proxy is appointed by m. m:mamroam_.;
but in :.6 meeting shareholder also casts his vote, whose

vote will be considered valid and why ? 5

State the provisions of the Companies Act, 2013

with respect to qualification and disqualification of

%@w_ﬁﬁﬁ@ﬂ%ﬁﬁﬁ

R F A 2w B o
T B S ¥ 2 AR et g e
F e #R < ¥ g e St
ﬂﬂﬁﬂﬂﬂﬂw%gﬁ&mmﬁmﬂa
IR = ? |

A S, 2013 F 37 ST 5 S

Directors, . 5

HIOT S PR At ol s 2

R FE 2

What is the process of dematerialisation of physical
shares under the Depository system ? Can these be

rematerialised 2 5

(b)

(11) 7791

What is ‘Audit Committee’ of Board of Directors ?

Explain the functions of this committee. 5

(©

(=)

Explain ‘Advisory Committee’ which is constituted in case

of Compulsory Winding up.
feqisiied gvmelt & Sfava wifas 9= @

SHEREeESRE # U ' OT 2 F; A E:
TAfRTaESRE & 9w § 2

(@) frem Wew ® ‘S Wl Wl = A

® ? 3@ gl & o $1 sren s

(1) SfarEia: 99T & $9 § wita Cweresr afbfd’

(@)

®)

FH =R BT
Or (3714

: \ S
Is it mandatory for every company to rotate its Auditors ?

What are the provisions of the Companies Act with regard
udi 5

to Rotation of Auditors ?

Explain winding up of a company on ‘just and equitable

grounds.

PTO:
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(¢)  What do you understand by scriptless trading system as

per the Depository Act, 1996 ? Explain its benefits. 5

(%) T w FH o ST B S S
BA 7 @Rl & ofadd et Fua
aﬁrﬁﬁqﬁﬁﬂéwﬁ'w%?

(@) = IR TfEs R W 9 $ GEeT
Al HifeU |

(m) feursielt sifufm, 1996 % eqer fafufady e
wﬁﬁmwm%?mwww
¥ ? = s

T191 12 8,400
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frooft ;=9 WYA-UF &1 S N ar fel foRel wem v
F dfoe; afe @t STl w1 WeEH TR €A
Bl

Answer any five questions.
All questions carry equal marks.
frl dfer sl # SW S
Tt WA F ok WA T

B.T0



(@)

S.No.

4.

(2)

3914

[

4
Imagine an economy with only two business firms, XYZ

Ltd. and ABC Ltd. The XYZ Ltd. owns wheat farm. It sells

some of its wheat production directly to the ﬁcd:o and

rest to ABC Ltd, which produces and sells bread. The

following table shows the transactions of each business

during a year :

Particulars Amount (Rs.)

XYZ Ltd. Transactions

Wages paid to employees

Tax paid to government

Revenue received from the sale of wheat :

(i) Wheat sold to public—Rs. 40,000

(i) Wheat sold to ABC Ltd—Rs. 1,00,000
ABC Ltd Transactions

Wages paid to employees

Taxes paid to government

Wheat purchased from XYZ Ltd

Revenue received from sale of bread

Calculate the GDP, using product method.

60,000

20,000

1,40,000

40,000
8,000
1,00,000

1.60,000

- (B)

(c)

(37)

C2E) : 3914
(i) Calculate the money growth rate required to finance

the budget deficit of Rs. 10,000 in an economy. Given

the following information :

Income (Y) X — Rs.1,00,000

Nominal Money Supply 93‘ = Rs. 80,000

Price level (P) .. = Rs; 20 3
(i) What is Hyperinflation ? 2

Explain the effect of adverse supply shock on price level
and output in the following conditions with suitable
&wmﬁ.ma :

(i) When aggregate demand is held constant.

(i) When aggregate demand can be increased. 7

2 sEEaE FH XYZ Ld. T ABC L. ¥ XYZ
r_a.%ﬂmw.m%@mmﬂ e e & SR
ﬁ&@wﬂ_ﬂmﬁa@gmﬂmﬁﬁo
rﬁa.&%w.%ﬂﬁﬂﬂgﬁ@ﬁﬂ
m@ﬁﬂ%w,mﬂﬁ%%jﬂi@d

%ﬂnﬂﬂﬂm%@ulmﬂm.ﬂmﬁiw_
P.T.O.
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. P ST Tl (wady
XYZ Ltd. & @9-o9

1. wmE=IE # EEr T I 60,000

2. G@R & & T o# 20,000

3. M &t fawl | wra smm-
(i) SHAT @ S T AE-40,000

(i) ABC Ltd. 31 3= T4 7§-1,00,000 1,40,000

ABC Ltd. 8T ®F -2
1. FHEE & e T e 40,000
2. W@R & fgm mn w1 8,000 ,
3. XYZ Ld ¥ T w1 HF | 1,00,000

4. Tod Ul =+ fowr ¥ 9 @™ 1,60,000
e fafy g Gpp T TR WIS |

C(F) (i) U AdemERen ® 10,000 T ® TS "I
%Eﬂﬁ%@ﬂ%ﬂmﬂm@ﬂ@m
it | frafafen gem & T ® -

™ (Y) = 1,00,000 T4
wiafaw gz 9ff (M) - 80,000 T
FHHd "R (P) = 20 THA

(5) 3914
Gy sfoewifa =R 2

(g) frefafea feafmE § 90 'R 9 ST W) faada
qff b & wwEl & sfed fe g e
EcC

(i) & "HfEs =@ fer =R
(i) & wHfes HT 9g WHA S

(@)  Explain the components of current account of balance of

payments. 3

()) What happens to the equilibrium rate of interest in the

following situations ? Use suitable diagram.
(/) Decrease in nominal income
(if) Decrease in money supply. 2

(0 () Define IS-curve. Explain its derivation
graphically. 3

(i) Explain the factors causing shift in IS-curve. Use

suitable diagram. 4

(31) YT W9 H e TR B HH F S Hifod |

(@) frefafen fafidl § d@qem o g8 1 10 e 2
e fo ®1 3wEm WIS

PT.O.
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(@)

(b)

(©

(6) : 3914
(o wiefae ™ H HH , \#,

(i) ﬂ%ﬂi_
() 1S H R %w_ o g 1S9
3 fmto w1 =TE Hie )

(if) ﬂmlﬂm@ﬁ%mﬂﬂﬁw%i%
ﬂ@%ﬂ.dﬂm@mﬁqﬂ:%_

Briefly explain the following concepts :

(/)  Business fixed investment.

w

(i) GDP and GNP.

Rohit borrowed Rs. 50 lakh from a bank in 2015 at some
rate of interest to be paid in 2016. During the course of
the year actual inflation was not equal to the anticipated
inflation. Who gained and who lost and why ? Explain
in both situation (i) anticipated greater than actual and

(ii) anticipated less than actual. 5

(i) Explain the various stages in the monetary transmis-

sion mechanism. 4

(i) How does increase in the money supply affect the
price level and output in the long-run ? Explain using

AD & AS curves as per classical model. 3

(77) 3914

(37) Frefafen sEumRone ® G e I

(=)

(%)

(@)

() =HauE fer few
(i) GDP Y GNP |

%wmoémmﬂﬁ@mo%a@ﬁﬁsﬂ@
= X W fon, i fe 2016 H gaE fwRE ST
¥ od &% NF, Sfas TRIfT eTfEd & SRR

& W Y oy gen 9 TR wt qm s ?

21 feefrt B = Sifsa | 59 () ik TR

FrEafas 9 ST & a9 (i) STufea wrifa arafas

¥ FH B

() TfEw s @ @ fafre eawenedi @t
RS FHIfe |

(i) <eET ¥ §g gf H finee wibd 'R A
IR F HE yuIfed H T 7 TS

Hied & AR AD I AS T5hi 1 ST Hleh
AT Hifed |

Which of the following transactions are included in the
calculation of India's GDP ? Give reasons in support of

your answer :
(i) Interest on national debt.

(i) Commission charged by a real estate agent. 3

PT.O.
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| (8) _ (9)

i (b) 9<.o: the following information : 5 () fFr=fafaa T # q_w 4R 3914

_,
r“_ : Quantity of money (M) = Rs. 4,800 a1 i HET (M) = 4,800 .md-@

'l Nominal GDP = Rs. 96,000 TR GDP = 96.000

| Real GDP = Rs. 48,000
| arAfas GDP = 48,000 ¥9%

|l () What is the price level and velocity of money in

() 59 sefoTTR B F R 9 q@ B A
g 2

| . :
l | this country ? _ 2

| (i)  Suppose the velocity is constant and the economy's

i | (i) W S R 9 fer & 9 seforawen

_ f ; output rises by 20 percent each year. What quantity e LR e |
' | . of money and money supply should the central bank PN Sl um«, ar EEHE
o set next year if it wants to keep the price level STl S HET A HA o TR .ﬂﬂ oot
| stable 7 3 , FT T AR AT BT T B AR T
ﬂ _, | Eed ® 2
| (¢)  Explain the effect of investment subsidy on equilibrium )
{ ,_ interest rate, consumption, investment and GDP. Use . (#) T =TS R, wd_mwd‘ e 9 gpp W 8w Tfsmet
, k ___ _ | ~ suitable diagram. noawma. _Em results with other fiscal mw TS T A ®ifd | 3faa fam o swEm
L H policy measures. . i SIS | 91 GROTH T S TR S &
gl (s1y s B Gop e A Freffen - e
A 7 _,_ 3 frg wnfye fEar Smem ? AT T F T 5. (@) Why are market values used to measure GDP ? Explain
_, A HRU S _ with example. !
é () TEE RO W A , (b)  Explain the determinants of the demand and supply of
(i) (oo .a...mwm ﬂ.,w_ﬂm o oo T T central bank :5:8.\. | 5
.m..ﬁo.




(10) 3914 { 4. )

3914
(¢) Using the equilibrium condition in financial market’ 6. (@)  Use the following data to calculate private saving and
(loanable funds), show the effect on equilibrium interest government saving
rate, national savings, and investment in the following GDP : Rs. 8,000
‘ cases ° . ;
Net factor payment from abroad Rs. (5)100
] An increase in government purchases.
Consumption : Rs. 2,500
(i) A decrease in amount of taxes. 7
Government purchase Rs. 1,500
Use suitable diagram.
Interest payment on government debt Rs. 250
(31) GDP F W & oy S T H I
Taxes Rs. 2,800
fopen T & 2 ST T WS § A i |
Transfers Rs.1,200 - 3
() B dw @ w Am A g ok iR w5
e HRH] HI A Eaisel (6)  Using the quantity theory of money and the Fisher equa-
. tion, explain in detail how the rate of growth in money
i o I Hh GO
(m) fodf sR # wged I
‘ : ffects the nominal interest rate. 5
—— feerferi ’ .
=t & TE 7 few w fefated
_ F gum = Nﬂ.ﬁm : : . (¢ ()  Derive the aggregate demand curve using classical
f . . . . quantity equation ? 3
| () T wa H S|
. (i)  Explain the role of multiplier in determining the slope
Giy ®L w1 Tfw A wAEL .

: of IS-curve. Use appropriate diagram. 4
, sfaa far &1 ST Hited | .
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) : (13) 3914
() = 5 = == FH D .ﬂﬂ.ﬂ frafafed v, (@)  The following data is given for two years output and prices
: - for an economy :
. 2011 2012
gFd WY AR 8,000 T

Commodities Price(Rs.) Output (kg)

Price(Rs.) . Output (kg)
2 e M 1O} 00 ..Aﬂ.w.

A 10 &0 16 100
ELE U 2,500 ¥99 B 6 80 12 140
ﬁ@..& - 1,500 FFH Calculate the Nominal GDP, Real GDP and GDP deflator
550 T taking 2011 as base year. 3
i kTR 4 (b)  State-and explain various costs of hyperinflation in an
S . _ i 2,800 T economy. 5
ELATAL 1,200 Rk (¢)  Given the following information :
(F) T3 H qfeeor ._nmﬂ.»._d 7 g T Ll dn_% Consumption C =360 + 0.80Yd; | Ydi=¥ = I
mﬂ%%%ﬂ@%@dﬂ%%% Investment I =640 - 6i
= gHIfed HEr & 7 | Government expenditure ,On 160
(§) () aeigee SR WEE H ST H Tax T = 200

ﬂ%ﬂﬂvﬂmﬂwﬁgﬂ%_ Price ‘level P=3

(if) _m[mﬂ%%jmﬁsm%mwﬁﬂmﬂ
%ﬂ_ﬂﬂ%_w@ﬂﬂmﬂ‘mﬂd
Ffe

Nominal Money Supply M= 1200

Demand for money L= 0.2Y—4i

BTO.




(14) 3914

Full employment level of income Y = Rs. 4,700

(/)  Compute the value of Monetary and Fiscal policy

multipliers.

(i) Compute the increase in the nominal supply of money

required to achieve full employment.

(iii) Compute the increase in government expenditure required

to achieve full employment. 5 Bl

(31) TF AderaEd & fau @ auf w1 FAEd 9 IARA
F ifFe Ffafea ffT @ €

2011 2012

(wm) (fmoTm) (FW) (R oam)

A 10 60 16 100
B 6 80 12 140

. 2011 W1 YR 99 T §U Hih{dh GDP, S&ia%h GDP
g GDP fewieX @ HIfSE |

(9) ww sdemaen # sifgewifa @ fafas @l w6
_SdEU 9 ARl Hifed |

(15)
(®) Frfafen sfwe o M ¥

39T C =360 + 0.80Yd:
femr I =640 - 6i
T = G =160
‘ L T =200
HFd WX P =3
Hihfaw g g M= 1200
T % fag w@m L =02Y- 4i
T H P IR
X Y, = Rs. 4,700 ¥4

3914

Yd=Y-T

) &ﬁﬂma@&a%%ﬂﬁﬁﬂw&%_
@) T AR 9 A B AU s gt g

1 9fd F gfg H @ HiA

(i) IO IR 9 w7 & AU soves wadt =

¥ gfg = I I3

3914 15

10,000

-
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(@)

¢

'

(®)

(@

(2) 4457

Explain briefly the following concepts:
(/)  Business fixed investment
(i) Capital account. i 3

Assume people’ of the country expect inflation to be
equal to m percent by the end of the 20th Century but
in fact, prices rise 3. 20 percent over these ten decades.
Describe how this unexpectedly high inflation rate would

help or hurt the following : 5

()  Firm that provides a fixed nominal pension when

the worker retires.

(7)) A person taking out a mortgage in 1950 for 50

years.

Suppose -the government increases the expenditure. Use
the ' IS-LM model to show the impact of the increase

in government “expenditure under two assumptions

()  The government keeps interest rates constant

through an accommodating monetary policy.
(if) The money stock remains unchanged.

Use suitable diagram 7

(3) 4457

(1) Frefefen sEsmons i sfed e "

(if) ST |

(@) W e fF T W F Wm0 el

# ot o 5 WREEW TR H oA B E
dﬁmﬁmmﬁﬁmﬂ&mﬂiwo%ﬁ
Y 7z W ¥ oem W fE S T IR .
sifer S TRty o frafataa # e Tgane
o |

() T # dafgft W T BH OEW HEH

F T fer wmfos EE|
(i) Th SRR B 1950 H 50 I W fe T .

e e "

(@) W <o, 5 owEw o wEd ¥ IS-LM

Hew g oA W WEEA @ WER oE A
afs & @@ WX 9 AW W W INE FH

PT.O.



(@)

(5)

(©)

‘equation explain in detai how the rate of growth

(4) 457

: 4457

Sﬁmﬂﬂﬂﬂmﬂ%ﬂﬂﬂmﬂmﬂﬂﬂﬂ ‘.av |
feer T w._ . | X () Find the equilibrium rate of interest and national
in 3

() J&1 & EiF 5 3ihqq w3 FE Feore | savings.

TRl BT | (i) Now suppose the government reduces the taxes
to 500. Compute by how much amount do the
o o & %ﬂ_ . | . .. following change : disposable income,

Suppose during the year the consumer price index rises consumption, investment and national savings due

from 150 to 162 and the Jogm:m_ interest rate is 9 . to fall in the tax. y

percent. What will be the rea| interest rate 9 3 (31) 9 ﬂiw_.ﬁ & TFH 99 & m._m_u_ SUHRRT I
_ ‘ ; I Hiehid®
Using the quantity theory of money and the Fisher ﬂld_ﬁmﬂ 150 ¥ SEFT 162 B W ¥ T
=S X 9 Wiavd ¥ orafass o e & e ?
fogid 9 BIYR TS0 F1 39A
money affects the nominal interest rate 2 5 - (9F) HgE & giEm E| <hl
, FE A Hif 7 59 Te gfs =, g

Consider a loanable funds market of an economy. The

. =S g HI g Lt 82
following equations describe the economy : . .
(9) TF A4A & ®ErE & & IR W
Y=C+G<+1] _
foeR st | Frafafea wdfteo srferasen =t
= 3000 e A B
1000 =C +G + I
T = 1000 Y = 3000
=250 + 0.5 (Y - T) G = 1000
[ = 1000 — 50 r T = 1000

PTO.



(6) : 4457
C.=250 + 0.5 (Y - T)

o
I = 1000 - 50 ¢ . |
aﬂ@mﬂ_ﬂaﬁm_iﬁi%wﬂ%_
() FE FA AT 5 g FU 1 T 500 -
T I S o et s s
U9, R 5 T a9 § %59 § g F
FEO R wEemE smom
(@  Explain how the national wealth of country can
change ? _ u.
() What is a money multiplier ? Suppose an moomo:d\ has
a Em:ﬂmQ base of m.wo million. Calculate Sommw supply

in the following situations

@ All the money is held as demand deposits and
banks hold 20 percent of their deposits as reserves.

(7)) All .the money is held as currency. 5

(© () Define budget surplus. What does negative budget
surplus means ? Explain using suitable diagram. 3
(i)  Explain the effect of m:_n_.mmmm in government

purchase on budget surplus. 4

%4 PR 4457

(3) TH W T UL Wy Y www g 2
ST HiTT |
(%) 1 T F T2 A AT R o sreforaren
® UM 20 fAfer efer W Hfkw emm '
frafafes ofifeft & 90 9ff @ #hm
Nc Tt ggr s - I ¥ oA %
Ft Se w20 whv fod $ ww
H @ T

() W HE wE B owg F ¥

(") ﬂﬂdmﬁﬁﬁmﬁmﬂ%ﬁ@d ST | FoeHF

T sifemm w1 wn @ ¥7 Shm R
.mﬂ ST S SR i |
(i) W MR W W FA R iy @
| Y& T e wifea |

(a) The following data is given for an economy for the
year 2015. How each of the following transactions would

affect the GDP and why ? 3

(1) Rs. 20 lakh is paid as interest on the national deb.

PTMN




(8) 4457

(7)) Ice-cream maker began the year with Rs. 10,200
worth of milk in his _m»nﬁ_o_u\ and at the end of

“ the year he is holding Rs. 11,000 worth of milk.
(6)  Suppose a co:a pays § 1000 in one year.

(/) Calculate the price of the bond when interest rate
is (i) 5 percent and (i) 10 percent. 2
(7)) What will be rate of interest if the price of bond

is $ 500 and $ 800 © 3

(0 () What do you mean by crowding out ? Explain
using a suitable &wmwma. 3

(/1))  When the demand for real 3.9._3\ balances is less
responsive to the rate of interest, crowding out

is more. Explain using suitable diagram. 4

mﬁvm@.woammﬂﬁaﬂmﬁﬂmw@mmﬂ?@m
HFS fu M ¥ Preafafed & @ w9 Gpp
F FE TR wwfam wwa § o3 s
() T ®0 | KU T e @ wT F 20
T w9 |

..,..p_w

(=)

(9) . 4457

(i) TF SEsm fAafar 1ot ®er # 10,000
T Yod B §¥ @ WY A H ©
e 98 % @ H 11,000 THH eI H
T SHE TH T Tl

TF F9 H UH S 1,000 TER A F g9

R |

() dfe I HET HI MUA FiSH T AW

W () 5 UfwW@ € & (i) 10 WRwE T

(i) ST T S X F B, afg S SEeht

Fd 500 TfeR & 800 TR Tl

(|) () FISFET o= ¥ AT = Y ¥? IUH

(@)

of Payment of a country ?

a3 &1 STEN HieA |

(i) V@ STt e 3w & faw " s

% wfd %8 doeeid o ¥ W FEeT
o Afuss dar ¥ SugE fEd w1 SHAR
FH AR RS |

What are components of current account of the Balance

3

P70y
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(©)

(1)

()

(10) o g 4457

Assume that the demand for real money balances is

represented by the following : 32
M/P=Y [04 — (r + expected inflation)

Where; Nominal Income (Y) = Rs. 4,000

Real interest rate. (r) = 8 percent

Expected m:zwmoz = _.m. percent is constant in short-run

() Calculate Seignorage, if the rate of growth of

nominal money is 20 percent forever.

(i) Calculate the inflation tax when actual inflation

equals 12 percent. [s it equal to Seignorage ?

() What is liquidity trap ? Is monetary policy
ineffective in this case ? . 3
(7)) Explain why the income tax system or social

security system are considered automatic

stabilizers 2 . 4
E O R L e g —
¥ T ?

W i fE arfE mm Gw B R
Frerfofen w0 v w T ¥

7]

C11) 4457

M/P=Y [0.4 — (r + expected inflation)

e Qihfah @ (Y) = 4000 9
arfgs =S S () = 8 v

sifem TR = 12 whww ewE § feR ¥
() TR T S AR Sk 5 9 afs
= W F faw 20 www ¥
12 wfawm ¥ F AR FRS F TR T2

(|) () T W @ g2 o 39 feufq | Hifgs

(a)

Hifd ergwmeETe Bt ®?
Ev.ﬂﬂamwﬁwm&%ﬁqa%mﬁiﬁﬂ
SR L T B e R = S
ST 2
Explain how each of the following transactions would
enter the v.m,m:nm of payment account of India : 3
() The Reserve Bank of India purchases Q.o:mqm. and

sells rupee to American bank.

(ij) Indian hotel is sold to Italian _:émﬁn

P.T.O.
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(©)

(12) 4457

Does Hyperinflation die a natural death or a stabilization

programme is required ? What are the elements of

stabilization programme ? Also explain the costs

associated with such programmes. 5

Given the following information

nozmz.atzo: C =270 + 0,80y v =Y
[nvestment I = 480 — ¢i

Government expenditure G = 120
* Tax T=="150

Price level , P =3

Nominal Money Supply M

li
o
S
=}

Demand for money L = 02Y-4j

Full

@

)

(iif)

employment leve] of income <\ = Rs. 3,000,
Compute the Monetary and Fiscal policy multipliers.

Compute the increase in the nominal supply of

money required to achieve full employment.

Compute the increase in government expenditure

required to achjeve full employment, 3.2

»

(13) : 4457

Euwﬂ@@mm@ﬂﬂ%{ﬁﬁ%g

()

()

o & $8 whw fry S s
() R 5% § e fod d% g ey
ﬁ_qﬂmﬁ,ﬁ@%_

oﬁ.vmw_ﬂﬁwwﬂﬂ%ﬁﬁé%%m.ﬁ_
AT TG A T W T @ wed
E o fR e fon Rewmee wEE #
SETTHR Tl §? WA FEFA F e
T T A e wifed,

frefafen sfse fu m & .

SN C=270 +080Y,: Y,=Y-T
IREE] [ =480 -6i

WER =g G =120

FX T =150 i

FHT T P=3

PT.O.
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(b)

(14) 4457
& fau =@
aM F T AT ®R Y, = Rs. 3000. ¥94

L = 02Y - 4i

) Qﬁﬂm%ﬂ%ﬂaﬂﬁﬁm&
Hifo |

() IO UFIR < HA %@Amﬂﬁﬂ
m@aﬂwﬂ%ﬂmmm@mywﬁ%_

Aéﬂaﬁ_ﬁﬁﬂﬁwwg%ﬂdﬂﬁ%
= H ogfg # @ s |

Why are exports _m&& and imports deducted when we

calculate GDP with expenditure approach ? a3

How is the rate of interest determined by the demand

and supply of money (assuming no banks in economy)?

~ What happens to the. interest rate if :

() . Nominal income falls.

(i) Central bank chooses for expansionary open market

operations. 5

(¢)

e : 4457

Explain whether an exogenous increase _m: price of oil
will shift the short-run aggregate supply curve or
aggregate demand. What are the ﬁo:n.,\M options w.«\mzmza
for the macroeconomist Eo%Em with .ﬁrm government .
o minimise effect of these events on the economy ?

Use a suitable diagram. : 7

-Evﬂﬂmﬁmwamcwﬂﬁﬂmﬂwﬁﬁw&

Frafdi = S s % 7 emr ® s

ST ® 1

nﬂvmﬂmﬂﬂ?mﬂﬂ%wﬂﬂ_ﬂﬁ%@

fruifd &t @ (wfe sefemmn 4 26
T %) ﬂﬂﬁkﬂ_ = Emoak

() R A wedt ¥

(i) FRE 5% fomres g IR whEm w5

TAE HET e

PT.O.
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(29 4645

L. Attempt any four from the parts (a) to (e) in this question : 4x5

(@)

()

(0)

(@)

(i)

For any two vectors x and y in R”, prove Emﬁ
[l = 0] < e = -

Find the equation of the plane through the point
(-1, 2, —5) that is perpendicular to the .Emsmm
mkl‘_\+nm.u l and x + y — 2z = 3.

Does the mﬂ_oﬁzm set of vectors span R® ? Why

or why not ?

v =4, 8 0); v =(2, 3 1) vy=3,4 2),
¥, =59, 1.,

What is the minimum number of vectors required
to span R> ?

Prove that if a matrix A is orthogonal, then the

amﬂon:.m:m:n of A is 1. Prove also that the converse

is not true.

R

(©)

()

(e)

(3) , 4645

A system of linear simultaneous equations is given by :

x+ 2y =10; 3x + 6y = p; gx + 8y = 40.

(0

(i)

(4)

@

(i)

Find the conditions on p and g for the system to

be consistent.

In each case, specify the degrees of freedom of
this system and how many of the equations are

superfluous ?

Prove that if a linear system of equations has more
than one solution, then it has infinitely many

solutions.

An orthogonal matrix is a non-singular matrix A
such that A" = A™". Show that the determinant of

an orthogonal matrix is +1.

Define the property of linear independence for a

set of vectors {x,, Koy seeeey X}

Prove that the set of non-zero vectors ma_. X5 Xy}
is linearly independent if the three vectors are
pair-wise orthogonal.

‘P.T.O.



WU A U ) V(0 H A A WR S

: 2xx—y+z=

ﬂ#@.ﬂ 2
@ O
(#)
®)
()

(4) ‘ 4645

R Tl <1 sl x 9 y 8 foag =g

f& [+ = Ivl] < e - 51

fg (1,2, 5 @ I T W wH
(plane) 1 THHIO. [ HIFHT SN FHae!
| Tx+y—27=37h T
(perpendicular) gl :
ﬁﬁﬂ%ﬁﬂﬂ@@mﬁwﬂﬁ%ig
_Hmvm:vw. 2 ;= oA ;W AR ?

v, = (4, 8 0), v, = @2 3, 1) v, = 3,4, 2),
fH:.og 1).

R R i sEwas WRe ® =
& F R ? . |
fagy =Sy fe Al T =g A ovIEq
(orthogonal) ..w.H WA T IR (determinant)
+1 BT | 9% off gy wifs f s foada
o B i R s

{

(d)

(5 4

.- (@ w@mgﬁ&ﬂ%ﬁﬁwﬂﬂmﬂuﬂnw

x 2y = 105 3%+ 6= pr gx + '8y =40,

0

pA R T A W AW w AR

" feEm & 9T (consistent) @ﬂ w@ SIEESEN

(i)

@

Tl
ﬁﬁ‘ﬂﬂ@mmﬂ@ﬂﬂﬁﬂaﬂ%
AT § I8 ot WapY R fean gdiem

STEYIF  (superfluous) & 2

gy W R A T o FEE @

A o AR W wen

(i)

3T Bl
.ﬂm_.m T (orthogonal) wu_._m,_ﬁ@ (matrix) Teh .Mm._
 SAfTA (non-singular) ST A @d._ T A.;m_ﬁ%

faT AT = A | quIiEE fof T erE e
& GrfieR (determinant) ST HIF +1 BT 7

PO




(e)

(i)

(6) ; | 4645

W B T I (x, PR i

axu.@ﬂ A (linear Eﬂ_m.ﬁm:am:nmu £ T Cal
R i |

fos #fm 5 s wfedl @1 o
. x,, x;} Feamwa: o= A ¥ Aty ¥ @
TS THIR (pair-wise) e w

Attempt any fwo from the parts (@) to (c) in this question : 2x5

(@

(5)

(0

(i)

)

The equation xy + 2yz + 32 = 6 implicitly defines
z as a function of x and ». Find the directional
derivative of the function in the direction 2, 5) at

the point (1, 1, 1).

Find the value of H.rm second order direct partial

derivative of z with respect to y for the function

in (/) above at (¥, 1, 1),

Calculate the rate of change in z at ¢t = 0 if

2
5t + 3xy
5T g 2R Le= 2,
wey

w=¢g + |

(7) : _ 4645
(if)  Show that the equation of the tangent plane at the
point (x,, ¥,, z,) on the surface z = ;\xﬂ is given

by yx + %y — 222 =0.

(¢0 () Draw the level curve for the function

\Q y)= y? — x> passing through (3,5).
Find the unit vector perpendicular to the level

curve at this point.

(i)  State and sketch the domain for the Eanzos
S ) =y —xIn(y +x).
mﬁﬂﬁ_mﬂdgﬂﬁm@i%%mﬂ

.

@ () FHExy+ 2+ 32 - 6 T T 2 A
xqy® FOE B w9 F qRwfig ww T
mﬂdﬂﬂ_ﬂ@w:, 1, 1) W faen @, 5) #
feomenes ST e (directional derivative) FTA

I |

P.T.O.



(8) 4645 (9) 4645
(@) M () | m..qﬁ e e w@ .W_‘lm.u (1, 1, 1) 9%, M3, Attempt any two from the parts (a) to (¢) in this question : 2x6
z 1y % T S o8 1 i sTase

A i

(@ () An equilibrium model of labour aaamza. and

output pricing leads to the system of equations :

MMN = w.«u\ 5

b)) ﬂmuulwa;uwiéu?, | Pf(L) — w = 0 and _Scu:r+_p§m.‘aém
w=¢é+ 1%,y : 0 W z H YREdT it T . | twice differentiable with /(L) > 0 and £*(L) < 0.

Sl %d._ | All the variables are positive. Regard E and c as

(i) N.M._.Wﬂ Eﬂ HA® (surface) z = /\m & ?NL : exogenous so that P and L are endogenous

Gy 2) R TR HHa (tangent plane) <RT variables which are functions of w and ¢ around

{ ﬁﬂwﬂs e txy—22z=0 gl . . the point A(w, ¢, P, L) = Wy no.w Py L,). Find
(@ ) W f(x,y)= 3 & Guﬂ@dﬂﬂw Aol .. ; expressions for w|“ WMW'W_ WIW by implicit
X S (level curve) Ea| fﬁ._w,mwd FHIfST | 39 differentiation.
._.,ﬂﬂz. W RN 9% @ m_.ﬂmd, .mmrn_.w afew 7 , (if) wo_.‘ﬁ:a m::.omo: L{w, ¢) in (¥), find an m_un_.oxmﬁm.zoz
mﬂ._;d_.m_ . i . ‘ to L(w, ¢) at (w;, ¢)) close to (w,, c,).
Gy weEl Sx, p) = z\ﬂ In(y + x) w@ n\_csmmz . () ()  State the definition of a homothetic function.

(7w) = fafae 3 smfem .mw_u,ﬁ_ | : | : PTO.
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e 19) , - 4645
(7))  Are the functions f and g are homothetic. Give .,

reasons.

Sy Xy, von 1) = A(85P +85P + .+ 8,0, ) P
glx,, x,) = 2logx, + Slogx,.

o . 0EY
(@ () - For the function .z = flx; ¥) = H+ﬂ ;

evaluate the elasticity of substitution and verify

Euler’s theorem.

(i) Is the sum of two quasi-concave functions

necessarily quasi-concave ? Why or why not ?
T IHE | 97 (@) ¥ (0 8 9 f5dl &7 & S
G | |
i | SH F A 9 IR F HEG B U B
TS TSR AISA (equilibrium model) |
?ﬂ.@ﬂ@d TR g 9T B ¥ e

Pf(L) —w=0d PAL) = wL + ¢, ST&l /3 R

(11) 4645

FTFHTHE (twice differentiable) &, Toras
FL)>0F L) <0l B W yeF S
qH AT 5 w 9 ¢ ST (exogenous) &
Rored 5 p o L s # S fe g
A(w, ¢, P, L) = (w,, ¢, Py, L)) & STHIH &
% W ¥ URY SEmEd (implicit

differentiation) %1 TeTIal 9 b

dw dc’ ow’ dc
¥ =EF T@ HIT
(i) 9T () § W L(w, ¢) T (wy, c,) B GHIT
(w,, ¢,) W WfTHed F@ Hifew |

® O @ﬂw@.@mﬂ T (homothetic function) T TRYTST
ferfe | |

Gy Teafafen wem r 3 o sefes & =1 74,
mﬁﬂ_?mﬁsﬂﬂ/ﬁ%.&ﬁm“

b eI )= >Am_a_;n + 86,0 + . mzkm,ov

g(x,, x,) = 2log x, + Slog x,.




4,

(12) 4645

i 62 08 S L
@ () WHz=fry=|—+t—| T e’

2, 1)
EalGie Am_m.,m:omq of substitution) m.:m Eaisic]
ST mw e (Euler’s theorem) Ea ﬁﬂﬁ?ﬂ
R |
@iy q m.._uwlw.._.mm.ﬂ (quasi-concave) Tl
e Fifysa @R W E-sraaa B 2
w o ;& T ?
Attempt any three from the parts (a) to (d) in this question : 3x7

(@) Find the critical uo::w and classify them as local
maxima, local minima and saddle point for the function
2 ICHN + HJ
fley)=(x"+2y)-e et
()) Find the maxima and minima of the ?:n:ou
x —x (y-2)7 _
g, Y)=Qx+4)e QRy-1DeY defined on
the set S where S is rectangular region with vertices

(0, 0), (0, 1), @2, 1) and (2, 0).

e e _ 4645

(© x(a, Sn\f\y is a production function for good

x using inputs @ and . Use the Lagrangian method to
find the amount of the factors required to produce an
output ¥ at minimum cost, when prices of the inputs are
p, and p,. Check the second order conditions and verify

the envelope theorem.

(d) Find the closest point to the origin on the curve given
by the equation x>+ xy = 1, x > 0. Also calculate :.ﬁ
minimum &m_ﬁmso..w_. What is the rate of change in this
distance as the constant 1 in the equation of the curve
m:oqmmmnm. marginally. |

W e W (@) 3@ F AR A8 I

e S _

(@ BT f(x,y)= (2 +2)) @ *Y) FY AR
._Mﬂaﬂ (critical points) %1 FTA HifeQ adl T T
33 (local maxima), A w:ﬁ&:o&_ minima)
BTG W_M,w (saddle point) % iR W m_._.?mu_lq_ I |

PTO.




(b)

©

(@)

(14) 4645

gq==d s W gfrsrfera HATN
(e, NS Qe+ e’ “F @y DT 2" %q sfess
(maxima) & TS (minima) T Fifs el s, T
farga (vertices) (0, 0), (0, 1), (2, 1) F (2, 0) T SATER

& (rectangular region) Tl

x(a, b) = Aab , ST 4 d b FeEd | oG ¥
] IARA FEA S| TG HOAGT ¥ HOFTH
AT ﬁ eI WY ¥ SEYAE HREHI (factors)
% 111 Sfsam faftr (Lagrangian method) Eqk=rRG
¥ s Fifer, i ST R HE p, Fp, T T
Y I @l I Sir" Hife & e YHT (envelope
Emoqmgvmﬂ mﬂ_m_.m_ HiTeTg |

d&mﬂsm+ﬁnra;ﬂd?ﬁ%¢mﬂﬂﬁ
Eﬂ?@&%ﬁ&ﬂnﬁmﬂﬂﬂmﬂﬁﬁm_
ﬁuﬁﬁﬂ@ﬂ&ﬂ&%@fﬁ&ﬂs%@ﬁﬂ
_m%aﬁmﬂ@ﬁéﬂﬁm%%

W H e ?

.S,

(15) 4645

Attempt any rwo from the parts (@) to (¢) in this question : 2x4

(@)

(®)

©

, .ﬁ .
Show that the function y = (x + 1) - mui is a solution

; d) :
to the differential equation mm = ¥ — x, which satisfies

the initial condition W0) = . Sketch the solution.

[SSH S

a)
For the differential equation M.W =) —y ~ 6, draw

the phase diagram and identify the equilibrium values.

Identify which of the equilibria are stable.

Verify whether the sets A and B are convex :

s ?.Q:m + % <16, x2 ime

2x+5
= > x>0
B ?L\:w T %

THUA H 9T (o) F (o) ¥ 5l @t 3 o

<ifsT

.
.

(@) YT fF e y= (v + _T%,ﬁmﬂﬁﬂﬁs

dy.

(differential equation) — =

o TV - TE F R, W

% IR o (initial condition) 1(0) = w & T
@ B TW T H oMfEg (sketch) IS |

P.T.O.
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) STTHET GHEH —2% — 2y 6 ¥ TR @ Y

(c)

(phase diagram) SFTST TYT TR ﬁlv_ga% ARSI
SHITSTC | I TreRd e €, gg=m sy |

TH=T9 A 9 B &1 WA (convex) &, HeATHUd

HIFTT

A= {(x,y)[xz +y2 516,.x2'+ y2 24}

B

- 2x + 5
2 0
{(x,y)!y R s }

16 i 3,500
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Roll No.

S. No. of Question Paper : 3812

Unique Paper Code . 72032801 - H

Name of the Paper E English — A

Narﬁe of the Course . Ability Enhancement Compulsory
Course—l/CBCS

Semester | N |

Duratioﬁ : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
Attempt all questions.

1. Write short notes on any five of the following in not more than

30-40 words :

(a) Silence and Pauses

(.b) Grapevine Chain

(¢)  Haptics

(d) Listening

(¢)  Disadvantages of oral communication

P.T.O.
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«( 2 ) 3812

_Interpersonal communication

Personal zone. 5x2=10

2 Answer any two of the following :

()  Explain with suitable examples how Semantic Noise acts
as a barrier to communication.
(b)  Kinesics.
(¢)  What is Sign Language 2 Give examples explaining how
sign language also helps in communication.
(d)  What is Feedback ? State its relevance in the cycle of
communication. . wxmn:_v
3. Read the questions very carefully before answering. Attempt all
‘parts :
(@ ()  Write a dialogue between a husband and a wife

about sending their son to a boarding school.
Or

(i)  Write a dialogue between a teacher and a student
who has not submitted his/her assignment to the

teacher on the scheduled day. 5

()

(c)

(a)

( 3 ) _ 3812

() Write an interview of a famous sportsperson who

is all set to leave to participate in the Commonwealth

Games for the first time.

Or

iy A very well known entrepreneur is going to launch

his/her chain of restaurants in the city. Write an

interview of such a person which will be published

in a magazine. 10

Prepare a public speech (in about 100-150.words) on any

one of the following :
(/) Dowry as a social evil.
Or
(i)  Lack of infrastructure for the differently-abled people
in the city. ; | : 5

Read the following passage and answer the questions that

follow :

A common social problem in India is the prevalence of
superstitious beliefs and practices. Superstition can be

P.T.O.
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referred to any belief or practice which does not have 3
scientific explanation to it. It can be explained as the Jack
of any scientific association and reasoning, while wo:oizm
any general belief and practices. Even though superstitious
beliefs are mostly in the rura] areas, urban localities are
no less behind. However, these beliefs and practices vary
from person to person based on theijr personal ideas,
religion, region, and many other factors, Hence, what s

superstition to one person may not be the case with another

individual,

Some of the common superstitious practices which lack

a mommnmmn reasoning are avoiding such roads in which
a black cat has just walked across; faith in Godmen, and
hanging chillies and lemons to ward off the evil eye. The
list is endless, The most common capse ,SEn: has been
attributed as the basjs of superstition is the lack of
education among the common public which results in

placing their devotion and trust in unscientific

3812

false
if 5 t an end to such
if one has to pu
methodology. Thus,
initiative of convincing
" has ke the initiative
racti one has to ta
practices,

beliefs. |
ition and
(/) What is the relation between superstition
h i
3

science 7

n to
Why does superstition vary from perso

(#1) m
| person ?

(ii) What is the role of education in reducing the

prevalence of superstition ? 3

(iv) Make sentences with the following words so as to

make their meaning clear :
(a) an..m:

(b)  Perception

(¢) Initiative

(d) U?o:o:.

PEO.
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(b)  Attempt any one of the following :

(¥

Write a summary in about 50 words of the

following passage :

| People travelling long distances wma.:m::% have to
decide whether they would prefer to go by land,
sea, or air. Hardly anyone can positively enjoy sitting
in a train for ‘more than a few hours. ,_,.85
compartments soon get cramped and stuffy. It is
almost impossible to take your mind oﬁ?:m_.o:w:mw.
Reading is only a temporary solution, for the boring
%ﬁ.:ﬁ.o?:o wheels clicking on the w.m:m soon lulls
you to sleep. During the day, sleep comes in
snatches. At night when you really wish to go to
sleep, you rarely manage to do so. If you are lucky

enough to get a couchette, you spend half the- night

~ staring at the small blue light on the ceiling. Without

" .
doubt you arrive at your destination almost

exhausted.

(i)

Long car journeys are even less plea

7 ) 3812

sant for it is

quite impossible even to read. On highways you

can at least travel fairly safely at high speeds, but

more often than not, the greater part of the journey

is spent on narrow, bumpy roads which are crowded

with traffic. By comparison, trips by sea offer a great

variety of civilised comforts. You can stretch your

legs on the spacious decks, play games, swim, meet

interesting people and enjoy good food—always

assuming, of course, that the sea is calm. If it is
not, and you are likely to get sea-sick, no form of

transport could be worse. Even if you travel in ideal

weather, sea journeys take a long time. Relatively

few people are prepared to sacrifice upto a third

of their holidays for the pleasure of travelling on
a ship.

Or
Ummsn.,?m:m_m:o:. State fwo ‘ma<m3mmmw and

disadvantages of translation. =)

P.T.O.
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(a)

(b)

()

)

(i1)

( '8 ) 3812

Write a letter to your younger sister informing her
of a blood donation camp recently organized by the

NSS unit of your college.

Or

Write a letter of complaint to the manager of
an electronic equipment company about products
which your company had ordered, of which a few
products turned out to be damaged at the time of

delivery. 10

You are the head of the sales team in an automobile .
company and the sales of the company is decreasing
gradually. Write a report to the Managing Director
stating the reasons for the constant decrease. and
suggest special schemes which can boost the

company’s sales.
Or

As the Convener of the NCC unit in your college,
write a report to the Principal mentioning the
achievements of the troop in the Republic Day

celebrations. 10

g | 28,000
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Your Roll No....coovruensee
Sr. No. of Question Paper : 4458 | HC
Unique Papeif Code : 12031201
Name of the Paper : Indian Writing in English
Name of the Course : BA (Homns) English — CBCS
Semester i i
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. All questions are compulsory.
3. Questions 1, 2 and 3 are of (10) tem marks each.

4. Questions 4, 5 and 6 are of (15) fifteen marks each.

1. (a) Discuss the ending of Swami and Friends.
Or
(b) The Education system in Swami and Friends. (10)

P.L.C.
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2. (a) In ‘A Poem for Mother’ Robin S. Ngangom deploys the
figure of mother both as a metaphor and as a looking

glass. Discuss.

Or

(b) With reference to Nissim Ezekiel’s ‘The Night of
the Scorpion’ discuss the tension between faith and

reason. (10)

3. (a) Using appropriate examples from the story The Two
Lady Rams, comment on the use of mock-heroic style

to satirise Sir Jhinda Ram and his wives.
Or

(b) Murad’s magazine in ‘In Custody’. (10)

|
/

4, (a) “I heard rumours of what was }n»qﬁmi:w in the
caravan but I closed my ears.” What was happening
in the caravan? How does the story The Free Radio by
Saiman Rushdie produce a critique of the policies of

the Indian State during the Emergency?

Or

4458 3

(b) “...Mother did not believe he wore his sudra and
kusti anymore, she would be very surprised if he
remembered any of the prayers; when she had asked
him if he needed new sudras he said not to take any
trouble because the Zoroastrian society of Ontario
imported them from Bombay for their members...”
Referring to the above excerpt, discuss the anxiety
oxwoamboaa by Mother and Father regarding the
Parsi identity of their son in the story Swimming
Lessons. (15)

5. (a) Swami and Friends is a depiction of child psychology.
Discuss.
Or
(b) Discuss anti-colonial consciousness in Swami and

Friends. (15)

6. (a) Through Nur’s wives, Anita Desai explores the
multilayered and perilous existence of women in an

orthodox Indian family. Discuss.

Or

P. 1.0,
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(b) In Anita Desai’s In Custody, the custodians of culture

are in custody themselves. Discuss. (15)

(3500)
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Your Roll No. IO s

Sl. No. of Q. Paper : 4646 ~ HC
Unique Paper Code : 12031202

Name of the Course : B.A.(Hons.)
English-CBCS

Name of the Paper : British Poetry and

Drama 14%-17% Centuries
Semester o2 1]
Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

(b) Attempt all questions.

SECTION- A 10%x3=30

1. Identify the passage given below and explain
with reference to the context : 10

He putte it in oure owene jugement.
For hadde God commanded maydenhede,
Thane hadde he dampned wedding with the

' dede

PO,



4646

And certes, if ther Were no sees y-sowe,
Vigninitee, thane where of sholde it growe ?
OR ‘ :
So let us melt, and make no noise,
No tear - floods, nor sigh - tempests move;
‘Twere profanation of our g.ow.m_ ‘
To tell the laity our love,

2. Identify the passage given below and explain
with reference to the context : 10

O, what a world of profit and delight,
Of power, of honor, of omnipotence
Is promised to the Studious artisan|
All things that move between the quiet poles
Shall be at my command

OR
My God, my God ! Look not so fierce on me.
Adders and serpents, let me breathe awhile.
Ugly hell, gape not ! Come not Lucifer !
I'll burn my books. Ah Mephostophilis !

2

4646

3. Identify the passage given below and explain

with reference to the context - 10
"Come to my woman's breasts,

And take my milk for gall, you murding
ministers;"

OR
"No, indeed, sir, the Lady Olivia has no folly.
She will keep no fool, sir, till she be married;"

Section - B 15x3=45

In Macbeth, Shakespeare critiques the values
that define the idea of masculinity. Do youy
agree ? Give a reasoned answer, 15

OR

"Macbeth is g morality play written in terms
of Jacobean tragedy." Discuss.

"Doublings and Inversions are the main
sources of humour in Twelfth Night." Explain
with examples. 15

OR

Malvolio is g character which " invites
sympathy and accommodates pathos and even
tragedy...". Do you agree ?

3 P.T.O.
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6.

Critically examine John Donne as a
metaphysical poet with reference to the poem
" Batter my Heart." 15

OR

. Discuss Dr Faustus as a text which embodies

the contradictions of its age.

4 3500
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Your Roll No...............
Sr. No. of Question Paper : 6757 HC
Unique Paper Code : 72182801
Name of thé Paper :  Environmental Science
Name of the Course : Ability Enhancement Compulsory

Course (AECC-1)

Semester RN ]

Duration : 3 Hours ' Maximum Marks : 75

| Instructions for Candidates

..i

k.

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

@ fow Ads

1 T WE-uE S T 8§ W e e FiRa S WS SgwAh
fofam |

2. T8 dar vl & IR AT |

3 @t A & 3 W 2

4. =O UST-9F & IR Fen a1 B R v s 7 difig, wfenT asi

IR I WA T B BT 916 | PTO.
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1. (a) Define any five of the following : GXNH_:: (w) Fefafaa & & S dier & i @t
(1) Sustainable ﬁ__meiowaE_ (i) @=a Qw_mw.m_ﬁv Eear
(ii) Food o:&: (i) @ra sjEen
(iti) Acid rain _ (iii) smel aut :
(iv) Bio-magnification (iv) | Sifeen sae
(v) Geothermal energy (v) i swt
(vi) Invasive species (vi) oeseR Waert
?5 Global warming (vii) e
(b) State true/false : (5x1=5) (@) @&t - Al o
(i) Sunderbans is an example of mangrove forest (i) ¥ewas, AT o7 TRRARS o= & UH I |

ecosystem. (ii) wifFcas Actnie dffae HET I T H B9 T
Fawrsia | 2 1

(i) PM 25 AT wouor A HE1 g T |

(1) Montreal Protocol is an international treaty to
reduce global carbon emission.

(iii) PM 2.5 is linked to noise pollution.

(iv) =& wae wig 3 R seeT & g sfe fend
(iv) Chandi Prasad Bhat played a key role in the 8 :
Chipko movement.
. ¥ A Sha-ffuw & T w2
(v) India harbours two biodiversity hotspots only. (v) s

P:T. 0.
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4

2. Differentiate between any three of the following :

(i)

(iv)

(v)

(3x5=1%5)
Solar energy and Hydro energy

Primary succession and Secondary succession -

Global warming and Ozone layer depletion

Forest ecosystem and Pond ecosystem

Environment (Protection) Act and Wildlife (Protection)
Act "

Frefofes ¥ Bedl e ¥ s e a
() W wof s o vt

(ii) sl s sie fafa s
(iii) fFaw T R AT W =W

(iv) = wRfafeei o3 sk oo wiRRafed ==

(v) waieRor (wemr) sfefem sk s=mie (wem

) sttt

Write short notes on any five of the following :

(5x3=15)

(i) Bishnois of Rajasthan

(i1) Ecotourism

| 6757
(iii)
(iv)
(v)
(vi)

(vii)

Habitat loss and biodiversity
Rainwater harvesting

Rio Earth Summit, 1992
Green Audifing

National Solar Mission

e % ¥ 5l Ota w dRm Ruht o

(i) o & fasid
(i) wateRvE T
(iii) s e s o - Fafer

(iv) asf-=ar |

(v)

o gt firer e, 1992

(vi) sRa ﬂ%ﬁﬂ.

(vit) T & e

4. (a) Why is Environmental Studies considered as a

multidisciplinary subject? Explain the importance of this
course in providing solutions to our environment

problems? ()

P.T.0.
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(b) What is Ecosystem? Describe the Structure of
Ecosystem,. (7)

(=) g%ﬁﬂiﬁ%ﬁﬂ%ﬁwii%ﬁwm
aﬁﬁﬂﬁgw@mw%mmﬂwﬂﬂwﬂgmwﬂwﬂﬂ
O Y | :

@%@@%ﬂﬁf%@@%ﬂ&%ﬂﬂ%
& |

(a) Why is there a need for India to m,_‘:.ﬁ from non-
renewable sources of €nergy to renewable sources of
energy? Add a note on the role of Government to the
success of this shift of energy. (10)

(b) Write a brief note On ecosystem services with suitable

(5)

() SR SR ot A ¥ e oo e 3
gﬂ%%%%ﬂﬁﬂﬂm&wwﬂiﬂiﬁs

%mﬂmﬂ@@@ﬂﬂ%%@ag%ﬁwﬂﬂmﬂ%
|

examples.

(®) aﬁﬂ%ﬂﬁ%%%wq@mﬁﬂs%g
Endl

6757 i

6.

8.

(a) What were the reasons for floods in Jammu and Kashmir

2015? (7)

(b) Differentiate between in-situ and ex-situ conservation

strategies. Briefly, explain one successful conservation

(8)

programme from ecach of these strategies.
(F) 2015 ¥ oW FWR ¥ A 9@ B T FRO N ?

(@) aarad 3R afeerd e Ml # S e @t |
WA ¥ ¥ TAF ¥ TF A WE FEwA H G §
AT |

Explain briefly, the 3R’s principle of waste management.
‘Waste segregation is the primary step for efficient solid

waste management, yet it is in minimal practice in India.’

Justify the statement. (5+10=15)

e yee ¥ e 3R @ R @ w8 ¥ aviw aw
T e FEe ¥ Sfie JUFR (RN ) Yo SRS
ihal AT S 2, T MR A SRl G I fhar o €
st w1 &R |

(a) Explain the role of human communities to safeguard

(8)

environment at local level.

PO,
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(b) Expléin briefly, your views on the preparedness of Delhi

state to tackle an earthquake disaster. (7)

(F) TIFE TR W W@ H G og A9 qedl S qiEe @t

RS FR |

(@) ST &t SIET T AT T og (Qocll Wed S deRdl W
8T ¥ I feR wed

(33000)
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Roll No.

S. No. of Question Paper : 3815

Unique Paper Code : . 72052802 H
Name of the Paper . <t st i s (ML Communication)
Name of the Course :  Ability Enhancement Compulsory
Course-I/CBCS
Semester ' H | _
Duration : 3 Hours S s Maximum Marks : 75
(38 9Y-931 & e € o feu e frsifia wom ux stan ereraies fofem 1)
1. EAWY H STEUROT # T F0 50 SEE gREl w
Y9 Sifau | : 10
AT

HIET T GiHaT T THIRT ST U SHH Hewd Tl SeoTd
HITIT | |

2. fafea ggwor & 7 3 i #1 fa89=T Fa gu ST
Hgtd W= HifNT | - 10

3Tt

Y H 3T el snnedt w1 wmyE fee yer e
S § 2 3Ee foga Seorm wifew) '

3. 'gyEl 9990 F1 Y §ad gu SH% Hewd & 1@ifEd
HIfST | 10

3reran
wiwo H ‘wrffew @’ @t ofe fruifa s

PTO.
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o mﬁwmﬁwm@wﬁmmm
HIfSTT | | 10

TEd AT’ W BN I QM e-TISE SHifey |
5. fy=fafea w feooft fafew

(1) 999U & H"igw Yar difgs oo

(2) Y™¥® TN AYAT HEEITTE GAE

(3) SafFs T mmmmﬂﬁﬂm 666
6. Fafafea w feuol fafeu . |

(1) TaIg NUAT 3TEARH
(2) fowdromn sreran sare

(3) AR & YHR AAqAT 377 | 6,6,5 '
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Your Roll No...ccoeveennees
Sr. No. of Question Paper : 4462 | HC
Unique Paper Code : 12051201
Name of the Paper : Hindi Sahitya ka Itihas (Aadikal

Aur Madhyakal)

Name of the Course : B.A. (H) Hindi — CBCS
Semester I
Duration : 3 hours Maximum Marks : 75
ot o fow e

1 6 Y- & few € o Ry e fFuifa wue w s sigsweee
feriRag 1

2. |t wa e 2

1 B aRafem & Rftvs woavel &AM S ewer W) fdEr
T |

SRAdAl

el B witer & W wafaar & fawewor S |
(14)
2. VA Wt & WY IREE I §Y ‘YA TEl i HEIoreh -

yETfUTeRar W feRR S |
P.T.O.
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3ar

e g, 9 9w o= AR & Rew AR | (14)

3. ‘Ha s S vt wowe wifew |
Jreran

For SR e ot faRas @ @i Fif | (14)

4. ISR e == & Mg w® ywm =k |

FAdar

Mo & R & T ) FER i (14)

(3000)
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Your Roll No..c.orveeennes
Sr. No. of Question Paper : 4647 | HC
Unique Paper Code 2 12051202
Name of the Paper : Hindi Kavita (Reetikaleen Kavya)
Name of the Course : B.A. (Hons.) Hindi — CBCS
Semester et )|
Duration : 3 hours Maximum Marks : 75
BE & fow fAew

1

T I -9 & Fied & W Ry 1w Feife we w ser sews
ferRaQ 1

[t v sfFEE ©

HIE & HA-died w1 @ i |
3Tt
TWH il shidar ‘Aifd e’ &1 garaw Jeer 8 | Rrsver it |
(12)
e & @ A e R- e w0 9Rem AR |
3t
fSE@ =t S -Fer W ST fewtt iRk | (12)

P.T.0.
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3.

e IR A R W Sk
Jrrar
e & we-Ber W s e (12)
U i S R fofee |
Jar
iR =g & sfewT-ste | e i | (12)

UG AT ST

(%) s 7 &@dh T AR T W, T A T B W AT e |
A A, ART T @ AR T Ew g ET TR
By w9 & T Rerg 3k Fewm 7 wEE w9
%w%i@d%mﬁ%mﬁw.ﬂ_

Jreran
B o o AT FNT FE FY A STHAT w9 |
IR T A T FEd A T SRR Adn W=

A & A g = TR o AW D A R AW W
T W A G I, WS o9 @ ohEr W 8 W

(@) wfer aIger -39 3 & IAT i ween Rl S Siee e
21

4647 . 3

YT W e - FEE IR ®, 79He WE A9 & W B
Ve e EE § Aented T St derte Aol Iaed B |
I A W gfuw ¥ W S o ) 9w aRER @ g
R

J=rar

dfr ol fRER 2, W & gy o=
o wew ¥, @ ¥ B %

T ¥ R 2%, 9 wg 9 I

o 38 7 @, P ¥ ww v wm

we uR *fwE, a8 &% ¥ Wt

N T g@ G, E. A a S 8+7 =15

6. ¥ W e & R W Al & w1 wA-wEE (T 150

& #) IgEed g :
(w) W@ AT 7 Aifw, 78 @ F AT
FW A O Re faen, e wiw o9 0
R ¥ W W, Foe Reafe A
e d frdifoe, S e 31 (3 - S o5 =)

(@) == fof 5w W, e g AN W, T FEH W HHAA B
A wRaTe W, Y FoE W, W EEEg W W e 2

P.T:0:



4647 4

TEl gHES W, Wil YES W, O FIgs W W R B |
'%ﬂ?m—aﬁiﬂ,amgfﬁﬁ'ﬁvrﬁ,ﬁ“mﬁ@>ﬁatﬂih
o 2 1

(srter - i

(1) & W@ % g i, T@-9 @ gl §iE
Jifey Siia & @, e wmifa i@ 1|
AHAFA NI &, QEd hed & |
gt W - er wwe, S wad a1
(wire gt

(a) <Re of @ & afer A o 2 WE A D@ wers |
A Jard fearse @ g oo wef® Sewr and
FAd T HAG O gsiE ¥4 39 ehTs |

T @ A AR a9 @ G @ B 8% g |
(V- =)

(6+6=12)

(3000)
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Your Roll No. 8 Snanine vessersriennns
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Namel of the Course : B.A.(Hons.)
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Instructions for Candidates :

BEl & fw Mew

(2) Write your Roll No. on the top immediately
on receipt of this question paper.
39 U99-9 B U<l 8 UX gRa Y U ST
I Fex g |

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
= ge-US & IOx Siden ar Bl BRer o
ar F e, @fte ool S ue & 9 o
g+ =fed |

P.T.O.
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(c) Attempt four questions in all.
F AR T B IwL A |

(d) All questions carry equal marks.

g+l usal & ofF TEH ¥

. Examine the main features of Asoka’s policy of

Dhamma. How far is it correct to say that it was
the code of social ethics ?

sigies B e A @ ogem RSwaret &
%%w_ﬁm&ﬂ@mmﬂmﬂawﬂwwm
e U e AT diedr o 7

. Describe the main features of Kushana polity.

What new features did they bring in the existing

political system ? ‘
FETOTRI  X-eeRel H ged iyt ®
guis Y | FEEN | TEHRAE ST el H
fF wT a@t @ g [ 7

. Examine the nature of internal and external -

trade between c. 200 BCE to 300 CE.
ST 200 2A1-9d & 300 & TF ARE B IAARD
T ATed S H HpRT B G BT |

2 ,

4465

. Examine the impact of the land grants in terms

of agrarian expansion, production relations and
land rights during the early medieval period.

gd-Aeee ® gf-dgEE 5T B Hiu-faE,
SerET-aEEedl qur gi-eTEmRl oY U uWEl A
e T |

. Discuss varna system, proliferation of jatis,

changing norms of marriage and inheritance in
the period between c. 4 century CE to 750 CE.

%%ﬁ%m&wﬁm@qmomﬁw%%ﬂm&:ﬂmﬁﬁ
TRz & e aur REE oY SaiemR
% SEad ARl B g BT |

. Trace the growth of Puranic Hinduism during
_the period of your study.

ﬂﬂﬁﬂﬁﬂ%m.%ﬂwﬂﬁwwﬂﬂﬂw
fafesa @ifsTa |

. Outline the main features of temple architecture

between c. 4% century CE to 750 CE.
TSR el T SR § 750 S B i HRT-wn
% gea fAdsmrel H X@ifed @i |

3 | P.T.O.
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8. Write short notes on any two of the following :
Fr=fafas & & fpet &1 o dfera fewafort e
(a) Stupa architecture.
-
(b) Relationship between state and forest
T I oY (SFTe) & dre oy
(c) Tamilakam
SIEGET]
(d) Teachings of the Buddha.

g @i frerd

4 3500
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BEl & e FEar

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) Answer may be written either in English or

in Hindi; but the same medium should be
used throughout the paper.

P.T.O.
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o SeT-T @ SN e a1 R Rt u

arer § Afee, afeT Tsft Sox o & A H§
B9 =ieu |

(c) Attempt Four questions in all.
Fel A "eAl & I« Ao |
(d) All questions carry equal marks.

it Ui P o wEe . B

. Trace the differrnt stages which marked the
growth of the Athenian 'Polis'.

iy § gifer’ %mﬁwxmﬂw_@ﬂﬁwm@
E?ﬂﬂﬂwﬁww@ﬁ&w_a_

. Was slavery instrumental in the making of the
Ancient Greece and Roman Economy ?

T A TN A O A9 B erefemeRen &
Frfer & werges ot ¢ e St |

Examine the contributions of Augustus Caesar
in the making of Roman Empire.

@ﬁﬂ%%@ﬁ?ﬂ%ﬁﬁ%ﬂ%&%ﬂ
qieTor it |

4650

Critically analyse the main phases of feudalism
in Medieval Europe.

qergdE gAY § qeedE $ Hedgel =eel @
TSI, T i |

. Assess the major factors leading to the crisis of

mmcmmbma

ﬁﬂ%ﬁﬁm%%%ﬂwm@w@jﬁ
STHT FHITSTT |

. What were the major social, political and

economic changes from the Umayyad to the

Abbasid Caliphates ?

S ¥ STl Raarea @@ % B al 95"
ATISTes, Aot g A aRaa Fr & 7

. Give an account of contributions made by Islam

in the field of culture and urban traditions.
HEpir ST T ORaRT o & & g =519 e
T ARTEFT B feaver SN |

3 : P:T:0.
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8. Write short notes on any two of the following :

fr=feiea ° O fFel & v dftra feogoft fafeo -
(a) Greek Culture
FAT T
(b) Conflict of the Orders
ol e
(c) Feudal Culture
T
(d) Mohammad and Islam

qeme g sy

4 3500
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OR

Where can the reporter find stories for the health beat?
Discuss the points to be kept in mind while covering news
on health. (15)

Discuss the characteristics of feature writing in terms of

the following :
(i) Format for writing features
(i) Types of features
(i) Leads for features
OR

(i) Skillful interviewing forms the basis for all good

reporting. Discuss.

(ii) Frame eight questions for an interview with any ONE

of the following personalities :
(a) Chief Minister of U.P,
(b) Virat Kohli

(¢) President Trump (15)

4467 3

Discuss the significance of headlines in newspapers.

Describe the various types of headlines.
OR

What are the functions of a copy editor? Discuss the
importance of verification and attribution in news

stories. (15)
(i) The editorial is the most significant piece of
commentary in a newspaper. Discuss.

(ii) Describe the forum available for readers to air their

opinions in the newspaper.
OR

Discuss how trial by media and the practice of paid news
are affecting the quality of news coverage in the current
era by citing suitable examples. (15)
Write short notes on any TWO of the following :

(i) Newspaper Supplements

(i) Light leader

P.1.0.
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(iii)) Agenda-setting
(iv) Ethics in reporting

" (v) Editorial Freedom (7.5%2)

(400)
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Your Roll No...cverreonees
Sr. No. of Question Paper : 4651 HC
Unique Paper Code : 11011204
Name of the Paper . Media and Cultural Studies
Name of the Course : B.A. (Hons.) Journalism — CBCS ’ |
Semester 1) |
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

¥

Write your Roll No. on the top immediately on receipt of
this question paper.

All questions are compulsory.

Popular Culture is a site of struggle between the forces of

resistance of subordinate groups and the forces of.
incorporation of dominant groups in society. Discuss this

definition with relevant examples from popular culture

OR

Mass culture complements the capitalist organisation of work
and leisure. Comment. (15)

Discuss the main contributions of Frankfurt school for media

studies.
' P.T.O.
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OR

How does ideology gets produced through ‘myths’ as
Barthes suggests. Elaborate with examples. (15)

3. What are some of the contemporary debates on the
representation of nation in the Indian media?

OR

What do you understand by genre? How does genres like
soap opera reproduce stereotypes? (15)

4. What are the characteristics of a sub culture? Explain with
examples.
OR

How does women as audience negotiate the meaning of a
popular culture text. Discuss with reference to Radway’s
Reading the Romance. (15)

5. Do you agree that the ‘Medium is the Message’? What are
the limitations of this famous proposition? (15)

OR

Write short notes on any two :
(a) Fandom (b) Hegemony
(¢) Culture Industry (d) Folk Culture (7.5%2=15)

(400)
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Attempt any three parts from each question. '
All questions are compulsory.

1. (a) Prove that a lower bound v of a nonempty set S in R is
the Infimum of S if and only if for every € > 0, there exists
ans, € Ssuchthats <v+e€.

(b) Let S be a nonempty bounded above set in R. Leta >0
and aS = {as: s € S}, then prove that Sup (aS) =a Sup S.

(c) If x and y are positive real numbers with x <y, then
prove that there exists a rational number r € Q such that x
<r<y.

(d) Show that Sup [1 — %: n € N} =1. 83,5

PHTROL
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2

(a) Define limit point of a set in R. Prove that a point ¢ € R
is a limit point of a set S if and only if every neighbourhood
of ¢ contains infinitely many points of S.

(b) Let (x,) be a sequence of real numbers such that
lim, o, X, = x > 0, then show that there exists a natural
number K such that

<X <2 | ¥nzK.

( ¢) Use the definition of limit to prove:

i, limpae (Vfn+1 —vn)=0

. : 3n+2
i limgoe (2 =3.

(d) Let (x,) be a sequence of positive real numbers such

that L= lim, e Au..:v exists. Show that if L < 1, then (x,) _

Xn
converges and lim, ., x, = 0. (5.5:5)

(a) Let (x,) and (y,) be sequences of real numbers such
that lim,.,,X, =x and lim,..y, =Y, then show that
limg o Xp¥n = XY.

(b) State Squeeze Theorem and hence prove that
L Yl
limpe(@ +0b") . 7 b,

where 0 <a < b.
(c) State and prove Monotone Convergence Theorem.

(d) Let (x,) be a sequence of real numbers defined by
Xy =8, Xn41 Hxﬂa+ 2 forn €N.
Show that (x,,) is convergent and find its limit. (5, 3, )

4.

5.

3

(a) Show that the following sequences are divergent:

E i (=)

(i) ?: (= v

(b) Define a Cauchy sequence and show that every Cauchy
sequence of real numbers is bounded.

(c) Prove that the sequence (x,), where
i i | 1
N=|H+|N.+M+.:+M. n €N

is not a Cauchy sequence.

(d) Let ¥, a, and X3, b, be infinite series of positive

real numbers such that lim,_, ﬂl:v = (. Show that if
n

¥ , by, converges, then Y17, a, converges. (5.5.9)

(a) State and prove n-th Root Test to test the convergence
of an infinite series.

(b) Test for convergence any fwo of the following series:
Loy n!
. n=1 nn
o = 1

n=1(3n+1)2

1
0
111. == y
=2 ninn

(¢) Define Conditional Convergence. Show that the series

(B T G



4

) YA o, LR SO

(2n-1)
is conditionally convergent.

(d) Test the following series for Absolute convergence:

o L. (aD)?
;(_1) (2n)!”

(5, 5,5)

3100
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Name of the Paper  : Differential Equations
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Maximum Marks o1

(Write your Roll No. on the top immediately
\ on receipt of this question paper.)

All the Sections are compulsory.
Use of non-programmable scientific calculator is allowed.

Section |
1. Attempt any three parts of the following: (5+5+5)

a. Solve the differential equation:
(2xe"y'i +2xy° + y}it + (xle"')/l -x’y? - 3x)_afv =0,

b. Find the general solution of the differential equation:
w'+ () =

c. Solve the differential equation:

dy =9l
dr x+y+3
d. Solve the initial value problem:
dy ) 7 4
| — =2xy" +3x"y  ll)=-1.
Y 2+ 35170
2. Attempt any two parts of the following: (5+5)

a. A water tank has the shape obtained by revolving the
parabola x* = by around the y axis. The water depth is 4 ft
at 12 noon, when a circular plug in the bottom of the tank is

‘removed. At | pm, the depth of the water is 1 ft. Find the

P.T. O.
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2

depth (1) of water remaining after ¢ hours. Also, find when
the tank will be empty. If the initial radius of the top
surface of the water is 2 ft, what is the radius of the circular
hole in the bottom? ¢

A certain piece of dubious information about phenyl ethyl
amine in the drinking water began to spread one day in the
city with a population of 100,000. Within a week 10,000
people heard this rumour. Assume that the rate of increase
of the number who have heard the rumour is proportional to
the number who have not heard it. How long will it be until
half the population of the city has heard the rumour?

Consider a body that moves horizontally through a medium
whose resistance is proportional to the square of the

velocity v, so that dv/dr = —kv?. Show that :

A Co
cS I+ vkt

and that
HSH X, + .\H‘_:Q + Ukt ).

Section II -

3. Attempt any two parts of the following: (8+8)

The following differential equation describes the level of
pollution in the lake:
d@ . F
—=—=\C,-C
&N ? A m v

where V is the volume, F is the flow (in and out), C is the
concentration of pollution at time r and Cin is the
concentration of pollution entering the lake. Let
V' =28x10°m",F = 4x10°m’ / month . If only m_.mmr water
enters the lake,

3%

i. How long would it take for the lake with pollition
concentration 10 parts/m’ to drop below the safety

threshold (4x 10° parts/m’)?

ii. How long will it take to reduce the pollution level to
5% of its current level?

b. In view of the potentially disastrous effects of overfishing

causing a population to become extinct, some governments
impose quotas which vary depending on estimates of the
population at the current time. One harvesting model that
takes this into account is:

dax X u
—=rX|1-=|-hX.
i h k)X
i. Show that the only non-zero equilibrium population
is :
A=K _IWW.
r

i, At what critical harvesting rate can extinction
occur?

In a simple battle model, suppose that soldiers from the red
army are visible to the blue army, but soldiers from the blue
army are hidden. Thus, all the red army can do is fire
randomly into an area and hope they hit something. The
blue army uses aimed fire.

i. Write down appropriate word equations describing
the rate of change of the number of soldiers in each
of the armies.

ii. By making appropriate assumptions, obtain two
coupled differential equations describing this
system.

iii. Write down a formula for the probability of a single
bullet fired from a single red soldier wounding a
blue soldier in terms of the total area A and the area

exposed by a mmnm,_n blue soldier A, .
P.T. O.



4
1v.. Hence write the rate of wounding of both mzﬂmnm_»“
terms of the probability and the firing rate. .

Section I11

Attempt any three parts of the following; (6+6+6)

a. Find the general solution of the differential equation:
) I .
XY +6xTy" +4xy' =0

€
1 ' —uﬂ

Yo=2y"+y'= _+.nm.qr<§ = &AS = ‘__on =S
¢. Using the method of variation of parameters, solve the

differential equation :
Y43y 42y =4,

d. Show that y, = ang ¥, =/x are solutions of :

i | »'+() =0,
ut the sum y = Y, + y, is not a solution. Explain why.

Section IV
Attempt any two parts of the following: : (8+8)

a. Muo.”wmn_.nu N. disease where all those m.nmnﬁ& remain
ontagious for life. A model describing this is o
; : is
differential equations X il
ds

.Iua@u
dt Eﬁ& gl

where B is a positive constant.,
i. ~Cmm the chain rule to find a relation between S and
il. OE&:. and sketch the phase-plane curves.
Do.nm:q:no the direction of travel along the
trajectories.
. Using .ﬂEm model, is it possible for all the
susceptible to be infected?

5
b. The predator-prey equations with additional deaths by DDT

are:
dx dY L
M'ﬂ\%_\nqln_sﬂuxlﬁ_k.wﬂﬂlﬁ.u%.fhu; .o..~u\
where all parameters are positive constants.

i. Find all the equilibrium points.

What effect does the DDT have on the non-zero
equilibrium populations compared with the case
when there is no DDT?

iii. Show that the predator fraction of the total average
prey population is given by:

f=

ii.

1

14| aletpe)
(B —p)

What happens to this proportion fas the DDT kill

rates, py and p,, increase?

c. The pair of differential equations
= dT

M&N = .‘UlvAUN..-l

dr dr

where r,y and gare positive constants, is a model for a

nnﬂ»Ua

population of microorganisms P, which produces toxins T
which kill the microorganisms.

i, Given that initially there are no toxins and p,
microorganisms, obtain an expression relating the
population density and the amount of toxins.

ii. Hence, give a sketch of a typical phase-plane
trajectory.

iii. Using phase-plane trajectory,
happens to the microorganisms over time.

describe  what

31100
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(Write your Rolllﬁo. on the top immediately
on receipt of this question paper.)
(@ Tv-77 & P & S R 1 Fraiffa
| @ WA HFw e )

Note:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

f‘zmﬁ:-mwwm#ﬁa?wfé#ﬂw?@
aryr ¥ AT AfFT 9 W F 9 0F g
g T SifeT

Students have to answer one question from each Unit.
All questions carry equal marks.

TN FHIE @ U T9T F IR T AT 2
gt gy & ofF EA &1

Unt 1 (FHTE 1)

1. Explain Aristotle’s concept of Being as discussed by
him in Metaphysics Book 1.

" P.T.O.



472 )

ﬁaﬂﬂdﬁﬂwﬂﬁﬁqﬂﬂgmﬂ@a_ﬁﬁnw

FTER HST |
. Or (39aT)
Explain Parmenides’ concept of Being.
yAAEfen & g SeAfad W W WEY S RS
g |

Unrr I Awmw_w 1)

. Explain Protagoras’ statement, “Man is the measure of
all things.”

&H&ﬁ%ﬂﬁ:ﬁ@m%ﬁ&mﬂ%ﬁﬁﬂw:

T SqTET ST |

Or (319an)
Discuss Socrates’ view that “virtue is knowledge.”

FHUd & AR “IH & T 87w F e
- i

Unrr I (357 111)

. What role does education play in the moulding of the :

character of the different classes that are essential in
the formation of the state according to ‘The
Republic’?

‘T Rufeerss’ ® fyren feg gsR fafv= aof & 9fG &
3T F Fd A g ANEE g T AT A €, 39
T feouit S |

3 472

or(Jg=n)
Compare Plato’s conception of justice in the State
with that of justice in the individual.

@2 F ST H AT i AGURT AR AR § [ @ |

HTIRON S TAATHS [IIAT FHIWT |
U IV (3575 IV)
. Explain the nature of four causes according to
Aristotle. i
I F ATIR TR AR & FON H e Hiiw |

Or (Agar)
Critically examine Aristotle’s views on matter and
form.

| ¥ vy @ aen Oy ¥ ddw ¥ fGER S
ATEEATE faa=ar Sifse)

UNtV (FHR V)

. Write short notes on any two of the following:

(a) Doctrine of flux
(b) Difference between Sophists and Socrates
(c) The foundational myth

(d) Common concerns of the pre-Socratic
philosophers.

frdl & W i oot RRTE
P.T.O.
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(2) TRadT ¥ fagia |

(b) WP T GFUd & fagidl = qers e
(c) TV Hicqd HAT Tl A @ & JILAX
(d) E-geudt SrEifel st amer favmand |

800 |
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on receipt of this question paper.)
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NoTE:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper. it

fewvit— 59 F¥9T &1 I HAH T 71 FH &
9T § T dfeT @4t I @ AT U g
g T TIET
Attempt any five questions.
All questions carry equal marks.

fervgl e F¥4 & 3R JIT/
g4l yv & 7% T &
1. What do you understand by morality? Distinguish

between conventional and reflective morality.

P. T.0.
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mﬂﬂ:@%mﬁﬁﬂwwugmg
mﬂmﬂﬂwﬁﬂaﬁ_ | .

2. Discuss  Aristotle’s concept of well-being with
reference to his text ‘Ni icomachean Ethics’.

I F Uy T W ¥ wed F say

ﬂﬂﬁ#?ﬂ.ﬂﬂ@wﬂﬂﬂ?ﬁ

3 On:nw__w discuss Mill’s Utilitarianism.

gwﬁgﬂiﬂﬂﬂﬁgﬂ@n_

4. Explain Kant’s Qﬁmoﬂnm_ Hﬂvﬂmmﬁ with examples.

mﬂwn@aﬁwﬂ#aﬂaﬁﬂaﬁmﬂﬂaﬁ :

5. Justify capital 1=Eun=uoa in relation to the different
theories of punishment.

ﬁw%@?ﬂ?ﬂﬂwﬁmmm&ﬁwﬁé
ﬁﬂumﬂ,ﬂ_

6. Define mﬁwmnmam Is it morally justified? Discuss.

mmmﬂqunﬂam%ﬁﬁqﬁ#ﬂﬂq@
3faa 2?2 fadmn sifag _

7. m.kﬁ_mi the no_nnn_uﬁ of Nishkama Karma according to
Bhagwadgita.

u. 4653
ﬂﬂﬁaﬂw,ﬁmﬁz T =i & fagia @t =
@iy : _

8. Write short notes on the following:

(a) Purusharthas °
(b) Gandhi’s concept of Truth.

L) i&&ﬁﬁﬁg_
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~ Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.

ool —9 WIS s R et T
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Attempt any four questions.

All questions carry equal marks.

el = 9 & I <R
|t Y ® 3% 9EH B

P.T.O.
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Differentiate between the concepts of negative and positive

liberty. Which concept of liberty is preferable to Issiah Berlin?

THRHEF AN HRTH WAl & s" S Hi |
T e Wada $i R SfEuRT # siEar °F
¥

Explain the concept complex equality. How does it differ .mqu

the a.mmnoz_.mo on resource egalitarianism ? |

Wfed FHMA H SEYROT Kl wAed Hifwul T@w
FEYT wHaER ¢ famel @ ) s § 2
Write a critical essay on the notion of global justice.
Afvas =™ H EERM W UH ANASAEF e
fafem | _

Discuss the evolution of the concept of lm_.zm.

AHR H sEumRon ® fow w1 faEema s

What is hate speech ? Critically examine various debates on

the idea of ‘freedom of expression’.

TR WO g ¥ 7 Csifvefm ) wda’ @ faer
¥ wefm fafay ar-faem @1 srelemmeE e
Fifg ‘

( 3 ) 4473

6. 7 Write an essay on the feminist critique of Rawls’s theory of

justice.
o8 & = & foga ot Ter afa w fEy
fafem |
What do you understand by multiculturalism ? Do you think

that Will Kymlicka’s theorization on multiculturalism adequately

resolves the issues of minority rights ?

TEERRAR ¥ ST T WEE 2 W oW 9%
ad § fe faw feafas =1 sgamgfoer =

. Ygide seudes SER # Tad ® Bd w5

T ?

Write short notes on any two of the following
(a) = Affirmative Action

(b)  Capability Approach

(¢)  Civil Disobedience

(@) Nozick’s Entitlement Theory.

-

P.T.O.
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Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.

TH Y- T S AU ar o<t foredt wem wm

§ difsg; dfrT ot sl =1 Teaw @ e

el

Attempt any four questions.

fewutt .

All questions carry equal marks.
el | v & s S '
et wodl & ofm T ¥
1. “The coalition era has come to an end in Indian politics.”

Give arguments in favour of your answer.

ETO
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‘MR oG § TesYE w1 g S B T §
M IW H 9Y H qHR URA HieQ|

mxm«:mmm the changes in the voting pattern of the Lok Sabha
elections of 2014. |
uc_&%&ﬂﬁﬂmm%ﬂim@maﬁ%_
w GHE wiNT)

Examine the ooz.m::&cum_ provisions to safeguard the unity

and integrity of India. Discuss the role of the state in

accommodating secessionist tendencies.

YRd k1 ThA T rEvEd W HUEG W@ &

AT FAEH G HIC | STermeE ggfwEt
® TERE § YRdE T w1 yfger &t faae
HITTT |

“The Post-Mandal era has witnessed the politicisation of caste
in Indian politics.” Discuss.

‘e % WA % g1 H WG USHia Ao S
H USHfaeRter g ¥ faeem s

( 3 L 4654

‘Politics and Religion are interlinked in contemporary India’.
Do you agree with this statement ? Give reasons for your
answer. @

‘gEETEH WA H oG ue e efafited €10 @
AT T HIT F WG © 2 I ITW B o wRO
gifer |

“The mzﬁo_.m.nn:o: of caste and gender is 'a major form of
discrimination in ‘Indian society.” In the light of this
&mnlq_:_m:o:, discuss the affirmative policies of the Indian
state.

PR TS # S SR T 6 e ey 99
F TH THE EEI ¢l 3H N5-vE & wed H urdg
TR &I GHNHF AM9dl S =9 S|
Examine the nature of Indian state in the context of inclusive

politics.

THEYT oA % Gl H O uRdE T § wWey

-1 giemr HifsT

P.T.O.



Write short notes on any swo of the following :

() Rise of Regional Parties in India.

(/i)  Dalit politics in India

(7iiif) Role of Religion in Indian Politics

(iv) ~Women Reservation Bill.

Frefefan # & fedf & = wfera ool forfm :
() YRa ®H & aﬁ‘f F1 3I7I ’

() 9Ra #H Tfaq T

(i) WRAE TSHIG 79 & fEe

(v) Hfgen AR 8T |

4 : 4,500
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Sr. No. of Question Paper : 4474 | HC
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(Admission of 2015)

Name of the Course . B.A. (Hons) / Part I CBCS
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

BEl @ fow Adw

1 -9 & e € S R e FuiRe w2 WS s
forfag |

2. |l ¥ HIRw |

3. @ty & 3w 9T R |

4. TEUET-UF &1 I FAu A1 B fRdt ven s A Gifsre, aifer wsh

IR T HIEAH TSR B BIF1 TIRY |
20,
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Describe the biological approach to the study of human

behaviour. Critically evaluate Ablation and Histological

methods. Patf)

%%%%%@m%ﬂi@ﬂﬂ%ﬂ%
_ .mwﬂ%ﬁm%%%%ma
RE g |

OR

Describe the nature of biopsychology and explain the
divisions of biopsychology. 1{5;10)

/

/
S AR < TER T F AR e TR ® AT
T |

With the help of a diagram describe the basic structure of
a neuron. Discuss the process of communication within a

neuron. i

et o B e 3 = R FE @ Sl i
%%%ﬂ@ﬁﬁ%%@f

OR

Explain the structure of synapse. How synaptic transmission

takes place? (5,10)

4474 3

FA-FEA D G T A FiY | ST FRor R weR
BT 2 |

Tabulate the anatomical subdivisions of the nervous

system. Describe the functions of the four major lobes of
cerebrum. (3
,12)

QT 99 & WAd wfaweE S giikviag e | wikass @ 9 r
WG @E & WEEl Sl AU i |

._\_ owr

Di :
iscuss the structure and functions of spinal cord. Name

vari ' :
rious cranial nerves and give their functions. (7,8)
3

HET AR Sl WAl R TR Rl e Fhiforg | AT s - et
® AW 3R v Tl |

W :
hat are the general characteristics of endocrine glands?

Discuss the functions of thyroid and adrenal glands

(5,10)
FBIE Al =t A vy @ 2 | s 1t sk sftges
T (V) & el @ faee i |
OR

P.T.O.



4 ) 474 5

4474
Discuss the hormones of Pituitary Gland. Why is it called (vi) Serotonin hypothesis
a master gland. (12,3)
R aReeemr
TEee feged af & s W T w1 3 AR A = wE
T 2?7 (vii) Neuroplasticity of brain
wfeTes & e
5. (a) Define any Five of the following: (2%5)
fraffe 3 Rt dte & aRem R (b) Fill in the blanks : (1x5)
(i) Blood-Brain Barrier
=T AT W (i) Endocrine glands are called ductless glands
. because
ii) Menninges of the Central Nervous System . . .
@) HTHTET U eI WA haer § i |
B T 97 9t Ry JFow
(i) Neurotransmitters are released by
(iii) Myelin sheath
g W& SRy 2|
wrEfor e
(iii) Sympathetic and parasympathetic nervous
(iv) Negative-Feedback mechanism systems are controlled by —________ in the brain.
AR frde A AR % wsrraeie sl dufedfeew wfer

o9 ol e

(v) Neural Integrations

GIEEAIREIE T
PTG
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(iv) The function of hypoglossal nerve is

BRI ST # &

EEG,

(v) Growth hormone is released by

Iﬁwarﬁ——r____mwﬂ%mw%r

(800)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all Five questions.

3. Aﬁswers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

= o fow B

I - & e 8 e Ry e R T wose Sy
foRae |

2. & Ui WEA & I SINTY |

3, o9 VE-UF & IR Jden a1 B R v o A S, e i
IO T WA U B BT IRV |

0 165
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What is personality? Elaborate upon the psychodynamic
(5,10)

perspective of personality.
wfee o 2 7 AEEREAnE Tiied WS w0
OR / 3terar

Evaluate the biological perspective of personality? (15)

wfeed &t wifde aRied & =reEr & |

Explain Emotional intelligence. Discuss the role of
Hereditary and Environment in intelligence. (6,9)

e gie & aR ¥ 99 | g W SEtiear 3 wafeRer it
e T W

OR / 3r2rar

Define intelligence highlighting the psychometric approaches
to intelligence. (15)

e & fr Femew Rcwn F W WS gy geeer w)
gieiee & |

Explain Self and identity in the Indian context. (15)

g de ¥ w@Wd 3R v 99 A |

4

G

OR / 3texar

Discuss the various features that explain the concept of
self in the Indian context. (15)

gAY 9ier ¥ I fRwre At aronat 9 fer ¥ ==t
|

Theoretically examine the domains that foster Creativity.

(15)
ATl ShY GTd I aTel THIGEh! St S Al ¥ ¥ o |
OR / 3teran

Explain Self-determination theory in the light of
Psychological needs. , (15)

TEAAE EEET ® e ¥ Fw-Folm e @ =
w1

Write any two short notes from the following: (7.5,7.5)
Frafofea & @ fFl o @t w oo ford
(a) Extremes of intelligence
e & o s
Pl @
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(b) Social cognitive perspective of Personality
21 e B 1 ol | S ol TR
] (c) Enhancing cognitive potential
AW &l &l SerT
(d) Culture and Self

WEHAE 3 T

(700)
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Your Roll No.....covveneees
Sr. No. of Question Paper : 4476 - HC
Unique Paper Code . 12131201
Name of the Paper . Classical Sanskrit Literature (Prose)
Name of the Course . B,A. (Hons.) Sanskrit CBCS

(Core)

Semester o
Duration : 3 hours Maximum Marks : 75

Instructions for Candidates

¥,

Write your Roll No. on the top immediately on receipt of
this question paper. ‘

2. Answer all questions.

3. Unless otherwise required in a question answers should be
written either in Sanskrit or in Hindi or in English, but the
same medium should be used throughout the paper.

el @ fore Fdw

1 T YH-TF & fed 8 oW Rt I FuiRa e s s
feiRag |

2. asft yEAl @ I AR |

3, AT WEEE F BN W, T8 WUA & I’ °%hd A1 Bl a@

SN Bt v oo ¥ S, SfeR @l IO T WIEAR TR &t B
TRy |
P.T.O.



ﬂﬂ_ﬂ“_ﬂfﬂaﬂwﬂ&w@ e E.z.w.m.
(=) mﬂmﬁ,@ﬂwmﬂmﬂﬁiﬁ%ﬁﬂ
%ﬂﬂ.@% Wﬂg_
Ll
|

' 4476

3 FEAETRE H AR FO Wl W R |

4 FeffeE ¥ ¥ Bl R oW oEE ARR:

3

() RRwWE sivardwrige | MgRaRRERwRT |

(@) SR IR el hveherdd = Farasry
Freiomenf Te |

(1) FEEERIERTNIRG 8 ged Wi Teeguiesed |
(&) ScHSeHAlTETEAY ] SR |

Write a brief note on Sukanasopadesa.

Jdr / OR

‘AUiRet TEHa 39 YU @ AISET SHET Y |
Explain with examples ‘SifRetw SEedas .

wwr ‘@’ / Part—-B

Translate any two of the following :

() siftnEeew OeReT qEemE T fovaren] | SeTEmeR Fa
| URRARRIRE: SR | T S AR i
ARFAFTES 59 | S o T enferaenfor 7 Al
FASYITAH FeeAEHASITTE: TAASTH a1 HH SiIea |



frgaie® & sgar wons @ et s we ¥ aftfa R |

Explain the day by day activities of kings according to

Visruitcharitam.

. I GEN 1, 2, 4 & &) Ote 3@ ue W e el |
iR | (5)

Write Grammatical notes in any five underlined words in

given 1, 2 and 4.

st 91’/ Part—C
. PR ¥ ¥ B AR W dRre R R (10)
Write: short notes on any three of the following :

F=qar / OR

TFd T Wi o I i faww @ fEew R

$ar / OR Describe the origin and development of Sanskrit prose
literature.
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8. ﬁ*?l%‘rﬁaﬂi‘f%f%ﬂ‘fﬁwﬁqﬁrﬁﬁrﬁd%:

Write short notes on any two of the following :

(1200)
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Your Roll No...............
Sr. No. of Question Paper : 4657 HC
Unique Paper Code : 12131202
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Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Unless otherwise required in a question answers should be
written either in Sanskrit or in Hindi or in English, but the
same medium should be used throughout the paper.

3. All questions are compulsory.

Bl @ g FEw

I I TE-TT B e & o R e FriRe s w s s
e

2. U AEWEH F B W, TM WEAUA H IR G&pa A1 fBEr 4w
T et v sor ¥ Sifvre, wifeer Wit SR ST Wems e B e
ey |

3. a3t we fFEE 2
P.T.O.
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1 Tefoiem &t swer #if (3x7=35%)
Explain the following:
(%) sl 91g; @ & qeRa =)
HEHR T F T wpfaeen 1)
Fdar / OR
TO1 3 T@ qEEHE 4 |
T TR AR RETEEEE
(@) =foamm B = a=misgReE |
mﬂﬁ@nﬂ%:
. et / OR
FHE WM W T Y AT |
. ¢ geee aaaRTS W )
(1) AR AMMSRE T e |
T =Y S SR A" e
erar / OR
S T el O T gARGE |
mmﬁﬂmn&ﬂwamwﬂmqmﬁ:

4657 3

(%) sremEien 7= TR e |
FAH AT G ARt 1|
Jerar / OR
WIEIT qET FHEEar FEETE |
AT e RommmeE |
() =ivaivEawsTE: Jest @ efare |
TeE: wied g 9 frwiss Wi W e woe
Jrerar / OR
AHE: U AR e geHEE: |
gt aeseh: € ¥ R/ 1

. T & ATER e @ U W e i | ()

Discuss the means of Self-Management according to the
Gita.

Hq4r / OR

M & FFAR AT A F g IR gfe 9 fe
T T |

Discuss the role of senses and intellect in the process of
Self-Management according to the Gita.

AR



4657 4

3,

qHRER BE W WET WY Ed ¢ I9% HRUN @ e
T | (n)

Explaining the nature of mental conflicts describe the cause
of it.

2@t / OR

ﬁﬁ%ﬂ”ﬂﬁfiﬁ?ﬁﬁﬂ'aﬁ'FﬂE'EﬂﬁIEQ”ﬁﬁaﬂ'ﬂﬁﬂI?% BRI & K
W S arel WAl & JU FHiTg |

Explaining the nature of three types of Gu8as describe the
impact of three types of diet on the body.

e ¥ ¥ B e W Rwlnd RRew - (3x618)
Write short notes on any three of the following :

(i) ¥R @9 (Austerity of the body)

(i) amest e (Modal Conduct)

(iii) dfg =1 ®w&  (Nature of intellect)

(iv) Arm=E (Practice of Yoga)l

(v) uren Afh (Devotion to God)

(1500) -
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Roll No.

S. No. of Question Paper : 4478

Unique Paper Cq'de . 12301201 ' HC
Name of the Paper . Introduction to Sociology—II

Name of the Course : B.A. (Hons.) Sociology CBCS

Semester S | |

Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper. )

(8 y @ fre @ S R Ty P T T S SR R 1)

Note — Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

" paper.
feoquft :—39 wvA-u w1 W AUSH A fe=l fREl w wm
F dfw; afed gt ST w1 JAead T 8B

el

Attempt four questions in all, selecting three from

| Section A and one from Section B.
FE AR Y & IW A 9 (F) F AT
AR 9 (@) ¥ fEdt @ T & SWSiNu

P.T.O.
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Section A

9T (=R)
Discuss Interpretive monmo_oww as a sociological perspective.
SIS FHSRI 1 fad=rm weermest afde
4 wifew
_E, what way does the interactionist approach throw light on
eyeryday life ?

sa:fraat vl ot & ew W fre gew
YF Tt & 2

“Examine the role of conflict in the understanding of society.

O H g9EA | g8 & Y w1 wdeo sifsm

How has the contribution of the wo.::&:@ wm%.ma of mo&o_omw
influenced feminist perspective ?

AR IRUeT I GHE T GHERRE $ SEeael
w F ARE W T ?

What do you understand by structuralist perspective? Elaborate

with examples.

HEAEET 9iem @ 9 = 9we 7 Serew
ufea =men wifsu)

4478

¢ 3:) 4478

Section B
9T (@)

Examine how functionalism contributes to the image of stable

social order.

eI W ¥ 7 udiwm s

Sociological perspective has been characterized by plurality of

T e BeR @ e g et
¥ foooit wifsm
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Roll No.

- §.No. of Question Paper : 4659

Unique Paper Code . 12301202 HC
Name of fhe Paper + Sociology of India-II

Name of the Course ; B..A. (H) Sociology CBCS

Semester . ||

Duration : 3 Hours Maximl-lm Marks : 75

(Write your Roll No. on the top immediately on receipr'af this question paper.)
(mm—w%ﬁaﬁﬁm‘ﬁqwﬁuﬁﬁwﬁmmaﬁmﬁm 1)

Note ~— Answers may be written either in English or in Hindi;

but the same medium slhcn.llld be used throughout the
paper.
feuoft ;= weA-TF 1 I ot ar fedt e o
ﬁﬁﬁq;ﬁﬁﬁmﬁsﬂﬁwmwﬂ@-é@ﬁw
Sl
Answer any one question from Section A.
Answer any fwo questions from Section B.

Answer any one question from Section C.

g () § O R T W # S S

P.TO:



2 ) 4659
i (@) # @ Rl S gl # Sw g
a7 () § ¥ TRt U 9w w1 I difeu
Questions from Sections A and B cairy 20 marks and
question from Section C Mum:._.mm 15 marks,
9 (F) AR (@) B W 20 3F & &R 9m

(T) & 15 3 T
Section A/¥TT (F)

The idea of India has never been an uncontested one.
Elaborate in thelight of the exchanges between Ambedkar

and Gandhi.

g 61 foar weft ot ﬁmﬂiﬁﬂ T W et
SR T @ wer smerveR # v # w6 R
w1 fowfa i) R

Examine the Indological approach to the study of Indian
society and culture.

it T SR e $ st - faeTe
ggfd @1 e Hii

( 3 4 : 4659
Section B/{TTT (@)

Discuss the trajectory of the formation of Dalit identity and

Boﬁgma in India.

9§ e weeH @ik %ﬂm%fﬁm_ﬂﬁhﬁ
Ca mﬂ@ﬂ: ﬂwa_

Show roé the role of dominant peasantry is central to the
understanding of peasant movements m:._z&m.

YR H FOF AGOH F THe % fau gy st
w1 yfrmr wam §1 wenfm i)

The middle class played a key role in India’s development.
Discuss. |
ﬁﬁniwﬁm%mﬂ_ﬁm&%ﬁﬁﬁﬂ_ﬁﬁ.
T Emm_ﬂ FIfT |

P.T.O.
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Section C/¥TT ()

6. Discuss the ideology and nature of secularism in India.
qRd H yHfRaeER Ft faera @R ysfa w1 faa=m
HITSTT |

T: Examine how Dumont deploys the tradition-modernity framework

to understand communalism in India.

THl W &1 givggifasar &1 fEw wE @
GLIU-STMYHRAT Bt TRET | TR wd & 2 g
T |

4659 o 800
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S. No. of Paper : 6720 HC
Unique paper code : 32371202
Name of the paper . Algebra “
Name of co,ﬁrse | : B.Sc. (Hons.) Statistics
Semester : 1l
Duration : 3 hours
Maximum marks - * 75

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Attempt six questions in all, selecting three questions from each
Section.

SECTION 1
1.(a) Solve the equation
x*- 18x° + 136x% - 720x +1600 =0,

given that the product of two of its roots is equal to the product
of the other two.

(b) Form an equation whose roots are the ratios of the roots
a, B,y of the equation x* + gx +r= 0. (6%, 6)

2. (a) Form a cubic equation whose roots are the values of a
B, 'ygwen by the relation 11+B+y~2 o’ + B +v2 =6, o +
B+ =3, Find the value of a* + p* + y*.

PAT: O,



2
(b) Show that the set {I, x, I+x+x’} is a linearly
independent set of vectors in the vector space of all
polynomials over the real number fields.

(c) Show that the set of vectors {(0, 1, 0), (1, 0, 1), (1, 1, 0)}
constitutes a basis of the real vector space R’ (6, 3, 3'%%)

3.(a) Let A be a skew symmetric determinant given by
0 x ¥y =z
A= —x 0" g ch

=y —¢cli0 a

Sz —hY=aWi(

Show that A can be expressed as a square of a
polynomial function of its elements.

b) Express the determinant
1 . cos/R —q) cos(y — o)
cos(a — B) 1 ~ cos(y — P)
cos(a—y)  cos(B-y) I

as a product of two determinants. Hence or otherwise show
that it vanishes. (6%, 6)

4. (a) What are Echelon matrices? Reduce the matrix A to its
echelon form and mark the pivot entries.

LA S |
Acslondh 2, 202
24 0 6

3
(b) Show that the only real value of A for which the
following system of linear equations has non zero solutions is 6

and then solve the equations:

X +2y +3z=)x

3x+ y+2z=12%y

2x+3y+ z=Az (6,6 '4)
SECTION 11

5.(a) A is a square matrix of order n with all elements equal to
unity and B is a square matrix of order n with all diagonal
elements equal to n and other elements n—r. Show that A? = nA.
Deduce that (B —rl) [B — (n* ~nr+r)1]=0.

(b) Find the value of adj (P"') in terms of P where P is a non-
singular matrix and hence show adj(Q”"' BP™') = PAQ , given
thatadj B=A and |P|=|Q| = 1. (6, 6'%)

6. (a) If A is a square matrix and (A lw_ ) and (A +w_ ) are
orthogonal, then prove that A is skew-symmetric and A*= |m .

Deduce that A is of even order.

(b) Find non singular matrices R and S such that RAS is in
normal form, where:

1 1 1
A= 1 =1 -1
3 1 1
Hence find rank of A. ‘ (6, 6'%)

7. (a) Show that any two characteristic vectors corresponding
to two distinct characteristic roots of a; P.T.O



-4
i) Hermitian matrix,
i)  _Real symmetric matrix, and
iii) Unitary matrix,
are orthogonal.

(b) Define generalized inverse. Give an algorithm for finding
a generalized inverse of a symmetric “matrix A. Hence find a g-

inverse of :
o B 2,
203 8
\6 8 %/2/ (6, 6'%)

8. (a) Reduce the quadratic form :
L 20%2 4+ TR0 + 2%37 — 30%%2 — 8%0%3 + 12X3%;

to the canonical form and hence show that it is positive semi-
definite. Also find a non-zero set of values of x,, x»,x3 which
make the form zero.

(b) Compute the inverse of the given matrix by the
method of partitioning :

~ ‘\
2019579
A= 3]0 5
71 6 4
X J _ 6, 6)

600
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YOour Roll-NO: cviScwdsieviisss tinonssivein

S. No. of Paper 1 6721 HC

Unique paper code ¢ 32371208 :

Name of the paper : Probability and Probability Distributions
Name of course : B.Sc. (Hons.) Statistics

Semester | | i | I

Duration : 3 hours

Maximum marks . 75

(Write your Roll No. on the top immediately
on receipi of this question paper.)

Question No. 1 is compulsory. From the remaining questions do
any five questions by selecting at least two questions from each
Section. Use of simple calculator is allowed.

1.(a)  For what values of 4 is E(|X — A|) minimum? 1

(b) 1f x~B (3, -;—) and Y~B (5, ;) are independently distri- !
buted, then what is the distribution of X+}?

-

(¢) Give an example of a continuous distribution for which 1
mean<variance.

(d) If Xand Y are mutually independent random variables. then 1
evaluate:
E(XY+Y+1)-EX + 1DE().

(¢) From the following table of joint distribution of random |
variables X and Y:

R C),



0

(®)
(h)

(1)
Q)

2.(a)

2

0

2/9

1/9

1/9

5/9

examine whether X and Y are independent.

Let p(x) be the probability function of a discrete random
variable X which assume values x;, x> x3 x4 such that
2p(x1)=3p(x2)=p(x3)=5p(xs). Find the probability distribution

of X.

L ]

If for a Poisson variate X, E(X®)=6, what is E(X)?

Identify the variate whose m.g.f. is given by:
(1+ mnummluﬁplmnv

Mt) ==

32

If X~N(0,1), then find E(|X|).

Under what conditions does binomial distribution tend to

normal distribution?

Section A

Let X be a random variable with c.d.f. given by:

Flx)y=

Is the above distribution function continuous? If so, give

formula for its p.d.f.

r

[3/E

B RNy

=0

3

Also find (i) P(X>3), (ii) P(X<3), (iii) P(1<X<3), (iv)
P(X>3 | X>1).

(b)  Show that for the exponential distribution 6
dF(x) = ype ™*/%dx,0 < x < 0,5 > 0

the mean and standard deviation are both equal to ¢ and

= that interquartile range is o log, 3. Also find y,» and show
ﬁ—u—mﬁ mH = &.__ RN “@
3.(a) LetX bear.v. with p.d.f.: 6
2 2 g
Hig= ﬂuG“+C —l<x<2
2 0 , elsewhere
Find the p.d.f. of U=X>
) (b) A box contains a white and b black balls. ¢ balls are drawn 6
at random. Find the expected value of the number of white
2 balls drawn.
4.(a) The joint density function of a two-dimensional random 6
variable (X, ¥) is given by:

_(2,0<x<1,0<y<x
f Q.EfM o.m_mmérma

(i) Find the marginal density functions of X and Y.

(ii) Find the conditional density function of Y given
X= x and conditional density function of X given
Y=y,

(1ii)  Check for independence of X and Y.

(b) Let the random variable X assume the value r with the 6
probability law P(X=r) =¢"'p, r=1, 2, 3, ... . Find the
m.g.f. of X and hence the mean and variance.”

P.T. 0.



S.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

.4
Section B :
X= r is unique mode of binomial distribution having mean

np and variance np(1—p). show that:

| (ﬁ+1)p-1<r<(n'+1)p
Find mode- of binomial distribution with p = —;- andn = 7.
X is a Poisson variate with parameter A. Show that

d
Urp1 = TAU-_1 + A—C—i%r, re= 2 3 o
Hence find 8, and B, .

Obtain the Poisson distribution as a limiting case of
negative binomial distribution.

If X has a uniform distribution in [0, 1], find the p.d.f. of
—2 log. X. Identify the distribution also.

What is a hypergeometric distribution? Find mean and
variance of this distribution.

If X and Y are independent Gamma variates with
parameters pand v respectively, show that the variable
U=X+Y and Z = ;):? are independent and U is a y(u + v)
variate and Z is a 8, (i, v)variate.

Let X~N(0,1), then find the p.d.f. of Y=log, X and hence
find mean, mode, standard deviation and coefficient of
skewness. ‘

Define standard Laplace distribution. Find mean deviation
about mean.
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